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Q.1) Attempt any two of the following each in about 100 words : [12]
(@) How did the nation respond to Gandhiji’s Assassination ?

(b) Write a note on McCormack’s Views on the importance of
Privacy in Life.

(c) Why did Fedor Sigaev keep changing his decisions ? What
decision did he take finally ?

(d) Why does Tagore want us to leave chanting and telling of
beads ?

Q.2) Attempt any three of the following each in about 50 words : [12]
(@) What were the effects of Tsunami on Malacca Town ?

(b) How does Shakespeare describe the final stage of man’s life
in the poem, All the World’s a Stage ?

(c) How did the Quick Man ruin the Conjurer’s every trick ?

(d) What are the fears and doubts in the mind of the mother,
Margaret about her lost son ?

() Write a note on humour in Uncle Podger Hangs a Picture.
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Q.3) Attempt any two of the following : [12]

(@) Write a paragraph on the importance of physical exercise in
Human Life.

(b) Write a letter to your uncle expressing sympathy over the loss
of Jewellery Worth Rs. 50,000.

(c) Write an essay on ‘Save Tress, Save Life !’

(d) These days there have been Over-celebrations in the Society.
What are your views on Over-celebrations ?

Q.4) Do as directed : (Any Six) [12]
(@ Make words by using the following prefixes :
(i) dis
(i) en

(b) Make adverbs from the following words :
(i)  Satisfactory

(i) Fine

(c) Fill in the blanks using suitable words given in the bracket and
rewrite :
(i)  Mr. Patil was for his great contributions in

Science and Technology by the Government of Maharashtra.
[facilitated / felicitated]

(i) The of onions are on the rising scale these days.
[prize / price]

(d) Fill in the blanks using the appropriate phrasal verbs given in
the bracket and rewrite :

(i) We decided to the project inspite of several
difficulties.

[carry on, get out]
(i) He tremendous efforts to get success in his life.

[put out, put in]
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(€)

()

(9)

(h)

(i)

Construct a meaningful sentence using the following words in

any order :

hard work, practice, sports

Give antonyms for the following words :
(i)  metro

(i) natural

Give short forms for the following words :

(i)  department

(i)  mathematics

Fill in the blanks choosing a suitable word given in the bracket

and rewrite :

(i) They all across the field to find out rat-snakes.

[wondered / wandered]

(i) The globalized world of today
catch up speed.

[accepts / expects]

Write a sentence using the phrasal verb given below :

consist of

Q.5) Do as directed : (Any Six)

(@)

(b)

(©)
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If you call me tomorrow

[Complete the sentence appropriately.]

George Bernard Shaw sent a condolence message.

[Change the voice.]

The Stable Manager said, ‘The horse died yesterday’.

[Change into indirect speech.]

young people to

[12]
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(d)

(€)

()

(9)

(h)

(i)

(i) John was recruited in the army last week.

(i)  John was well-built and physically tough man.
[Combine the sentences and rewrite.]

John’s and Mary’s plans were postponed due to the heavy rains.
[Correct the sentence and rewrite.]

Tingya went the International Film Festival Award
organized Pune.

[Fill in the blanks with appropriate prepositions and rewrite.]

Fill in the blanks using a suitable word from the bracket and
rewrite :

(i)  Herlovely figure is quite suited to her profession.
[thin / slim]
(i) The to the constitution states the objectives and

the ideals of the country.

[preamble / preface]
The thought that her son would be coming home soon
[Complete the sentence appropriately and rewrite.]

When Akshay was , his father was talking on the
phone.

[Fill in the blank appropriately and rewrite.]
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F. Y. B. Com. Examination - 2011
FINANCIAL ACCOUNTING
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ State with reasons whether the following statement are true or
false : (Any Five) [10]

(i) “‘Going Concern’ assumption states that same Accounting
Policies are followed from one period to another period.

(i) In case of admission of partner in partnership if new
partnership decides not to retain the goodwill in the books,
the amount of goodwill is debited to Old Partner’s Capital
Accounts.

(ii)) At the time of dissolution of partnership firm, all the assets
and liabilities of the firm are transferred to Realisation
Alc. at their book value.

(iv) Receipts and Payments Account records all cash receipts
and payments of current year only.

(v) Royalty is a lump-sum payment made for use of certain
property or rights to its owner.

(vi)  Hire Purchaser cannot terminate the Hire-purchase Agreement
before the property under Hire-purchase passes to him.

(vil) Microsoft Excel is an example of Spreadsheet Package.
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(b) Brief answer question : (Any Two) [14]
(i) Discuss the Disclosure of Accounting Policies (AS-1).
(i)  What are the advantages of Amalgation of Partnership Firm ?
(i) State the salient features of a Computerised Accounting.
(iv) State the features of Hire Purchase System.

Q.2) A, B and C were is partnership sharing profits and losses as
3 : 2 : 1 respectively. The partnership was dissolved on 31st March,
2010 following A’s proceeding abroad. The Balance Sheet of the firm
on that date was as follows :

Balance Sheet as on 31st March, 2010

Liabilities Amt. (Rs.) Assets Amt. (Rs.)
Capital A/c’s. : Cash in Hand 56,000
A - 2,80,000 Sundry Debtors 5,88,000
B - 1,40,000 Stock-in-Trade 2,24,000
C - 28,000 4,48,000
Sundry Creditors 4,20,000
8,68,000 8,68,000

There was a contingent liability in respect of a bill for Rs. 20,000 due
on 25th August, 2010, under discount. It was agreed that the net
realisations should be distributed in their due order (at the end of each
month) but as safely as possible.

The realisations were as under :

Stock and Debtors Expenses
(Rs.) (Rs.)
April, 2010 1,68,000 14,000
May, 2010 2,52,000 10,800
July, 2010 1,40,000 9,800
August, 2010 2,25,000 14,000

The stock was completely disposed off and amounts due from debtors
were realised, the balance being irrecoverable. The acceptor of the bill
under discount met the bill on due date. Prepare a statement showing
piecemeal distribution of cash, under Maximum Loss Method. Apply
Garnor Vs. Murray’s Case. [14]
OR
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Q.2) Mayur and Virendra were partner’s sharing profits and losses in the
ratio of 3 : 2 respectively. Their Balance Sheet as on 31st December,

2010 was as follows :

Balance Sheet
as on 31-12-2010

Liabilities Rs. | Assets Rs.
Sundry Creditors 12,000 | Plant and Machinery 22,000
Bills Payable 4,000 [ Motor Car 4,000
Mayur’s Loan 5,000 | Investment 4,000
Outstanding Salary 2,000 | Bills Receivable 3,000
Reserve Funds 4,000 | Stock 8,000
Capital Alc’s : Debtors 5,000
Mayur 13,000 [ Cash 7,000
Virendra 13,000 | Current Alc. :
Current Alc. Virendra 2,000
Mayur 2,000
55,000 55,000

The partnership was converted into a limited company on the above
date, subject to following adjustments :

(1) The company agreed to take over the following assets and

liabilities and goodwill of the values stated below :

Plant and Machinery Rs. 32,000, Stock Rs. 7,000, Debtors
Rs. 5,000, Creditors at 10% Discount and Bills Payable at 20%

Discount.

(2) Goodwill was valued at three years purchases of the average
profits of the last three years. Profits being as under :

2010 Profit Rs. 7,000
2009 Profit Rs. 5,000
2008 Loss Rs. 3,000
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3)
(4)

)
(6)
(7)

(8)

Motor Car was sold at Rs. 5,000.

Bills Receivable were taken over by Mayur at Rs. 2,500 and
Virendra took over investment at Rs. 1,000.

Mayur’s Loan and Outstanding Salary were paid in full.
Realisation Expenses amounted to Rs. 1,000.

Purchase consideration was discharged by issuing 3,000 shares
of Rs. 10 each at Rs. 8 per share and balance in cash.

Shares received from the limited company are to be shared by
partners in their profit sharing ratio.

You are required to prepare :

@)
(b)
(©)
(d)

Q.3) (A)
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Realisation Account
Cash Account

Partner’s Capital Account

Limited Company Account [14]
A, B and C shared profits and losses in the ratio of 4 : 3 : 3.
On 31st December, 2009 their Balance Sheet was as follows :
Liabilities Rs. Assets Rs.
Sundry Creditors | 12,000 | Cash 6,000
General Reserves 5,000 | Bills Receivables 8,000
Capitals : Stock 18,000
A - 30,000 Debtors — 17,000
B - 20,000 Less : RDD - 800 | 16,200
Plant 32,800
C - 20,000 70,000 | Goodwill 6,000
87,000 87,000
‘B’ died on 1st July, 2010. The partnership deed provided that
in the case of death of a partner, his heirs should be entitled
to :
(1) His capital on the date of last balance sheet.
4 Contd.



(2)

3)

His share of based on 3 years purchases of the average
profits for four years.

His share of profits upto the date of death on the basis
of previous year’s profit. ‘B’ had withdrawn Rs. 7,250 upto
1-7-2010. The profits for the previous four years were :

2006 - Rs. 15,000

2007 - Rs. 16,000

2008 - Rs. 15,000

2009 - Rs. 18,000

Calculate the amount due to B’s hair and prepare his Capital
Account. [08]

(B) Sai Mining Co. Ltd. obtained a mine on lease on 1st January,
2007 on the following terms from Mr. Mohan :

(1)
(2)
3)

Royalty was payable at Re. 0.75 per ton.
Minimum Rent was fixed at Rs. 36,000 p.a.

Each years excess of minimum rent over the actual royalties
can be recovered during the subsequent two years.

(4) Due to strike or accident, minimum rent is to be reduced.
Production was as follows :

Years Production in Tons

2007 42,000

2008 44,000

2009 70,000

2010 60,000

During the year 2010 there was a stoppage of work due to strike
for lasting three months.

Pass the necessary journal entries in the books of the Sai
Mining Co. Ltd. [14]
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Q.4) From the following Receipts and Payments Account, prepare Income
and Expenditure Account for the year ended 31st December, 2010 and
the Balance Sheet as on that date : [20]

Receipts and Payments Account
for the year ended 31-12-2010

Receipts Rs. | Payments Rs.
To Balance b/d : By Cricket Match Exp. 380
Cash 1,000 | By Billiard Match Exp. 120
Bank 5,500 | By Sports Material 4,000
To Entrance Fees 4,200 | By Furniture 2,700
To Subscriptions 15,400 | By Salaries 1,500
To Sale of Furniture 1,100 | By Lighting 210
(Book Value
Rs. 1,500)
To Cricket Fees 500 | By Printing and Stationery 410
To Billiard Fees 700 | By 5% Govt. Bond 20,000
To Locker Rent 300 [ By Repairs 1,500
To Donation for Books| 5,000 | By Upkeep of Ground 700
By Balance c/d :
Cash 180
Bank 2,000
33,700 33,700

Other Information :
As on 31-12-2009 As on 31-12-2010

(Rs.) (Rs.)
Outstanding Subscription 400 500
Outstanding Locker Rent 40 50
Sports Material 8,000 11,000
Furniture 5,000 6,000
Outstanding Salaries 150 220
Stock of Stationery 90 100

OR
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Q.4) (A) A and Co. of Pune sent goods on Consignment Account to B
and Co. of Nashik. The cost price of the goods was Rs. 2,96,750.
A and Co. paid for Freight Rs. 7,620, Cartage Rs. 2,320 and
Insurance Rs. 7,000.

Half the goods were sold by agent for Rs. 1,75,000, subject to
the Agents Commission of Rs. 8,750, Storage Expenses of Rs.
2,000 and Other Selling Expenses of Rs. 3,500.

One-fourth of the consignment was lost by fire and claim of
Rs. 50,000 was recovered.

Ascertain the profit or loss made on the consignment. Also show
the Abnormal Loss Account. [10]

(B) On 1st January, 2006 the Bajaj Ltd., purchased the machine from
Canon Ltd. on Hire-purchase System. The cash price of the
Xerox Machine was Rs. 2,25,000. Bajaj Ltd. paid Rs. 30,000
on signing of the agreement and agreed to pay balance in 5
installments of Rs. 45,000 each payable annualy on 31st December.
The Canon Ltd. charged 5% interest p.a. on yearly balances.
Bajaj Ltd. decided to provide depreciation at 10% p.a. on
Reducing Balance Method.

Prepare :
(@ Xerox Machine Alc.
(b) Canon Ltd. Alc. [10]
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F. Y. B. Com. Examination - 2011

BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Critically examine the Law of Variable Proportion. [16]
Q.2) What is Elasticity of Demand ? Explain the types of Elasticity of
Demand. [16]
OR

Q.2) Critically examine the Marginal Productivity Theory of Distribution. [16]
Q.3) Answer in brief : [16]
(a) State the tools of Economic Analysis.
(b) Explain the features of Oligopoly.
OR
Q.3) Answer in brief : [16]
(a) Discuss the Liquidity Preference Theory of Interest.
(b) State Concept of Consumer’s Surplus.

Q.4) What is Monopolistic Competition ? Explain the Equilibrium of a Firm
under Monopolistic Competition. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Concepts of Revenue Curves
(b) Internal Economies
(c) Scope of Business Economics

(d) Collective Bargaining
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2) ITElESIT 3 goArd GOl OT FOIfIar.
(3) SMIITHAT HT A GIAF NTHFAT FIET.
4) TSt 7es Fusit geTurAer ward,

9.1) ISAET FHOTAT AT ShlcAd  IieToT . [16]
9.2) AN daraehdl RSl BT ? AN darashdd Y6 T &0, [16]
T
q.2) Tq9eETT S SATewdT MEiard Sihtas IAgToT . [16]
9.3) aswE s forer [16]

(31 3N TasewoTt |re Wi
() SIESHTIRERMET IR T F.
e
9.3) aswma s foter [16]
(31) ST FHolrT WHHAT WEid e 4.
(F) SUFFITST FATIaT=t T forar.
T.4) AHRERGE Tl BNl HE ¢ AFEREgT WIdid STRRRET J9ard
o B [16]
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g.5) four forer . (wioraEmdt SeaR) [16]
(31) Tt FEhrAl HheA
(F)  Ifatd T=at
(F) STEEIE IS AT

(3) RIS WG
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F.Y.B. Com. Examination - 2011
MATHEMATICS AND STATISTICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions : |
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.
(4) Both the sections should be written in the same answer-book.

SECTION - I
Q.1) Attempt any four of the following : [2x4=08]
(a) Explain the term ‘Dividend’ with illustration.
(b) Find the Simple Interest on Rs. 5,000 for 3 years at 6.5% p.a.
(¢) Explain the term ‘Subset’ with illustration.
(d) Shade the region identified by the inequality 6x + 3y < 24.
(e) If f(x) = x* - 2, find f(2) + f(-2).

1 3
6 IfA=[ 1]’ find 5A.

Q.2) Attempt any three of the following : [5x3=15]

(a) Find Compound Interest on Rs. 2,000 at 14% p.a. for three years
compounded half yearly.

(b) What is the EMI (Equated Monthly Installment) of Loan of
Rs. 50,000 repaid in 4 years, if the rate of interest is 5% p.a.
on the outstanding amount at the beginning of each year ?

[(1.05)* = 1.2155]

'(¢) Which is the better investment 12% at Rs. 140 or 15% at
Rs. 160 ? Justify.
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(d) Solve the following L.P.P. by Graphical Method :

Maximize = 20x + 30y

Subject to 3x + 2y < 24

2x + 4y < 28
X, y=>0
(e) Find determinant of a matrix :
1 1
A=}11 2 3
1 1 =
Q.3) Attempt any three of the following : [5x3=15]

(a) What sum will amount to Rs. 4,230 at the rate of 5% p.a. simple

interest in 3.5 years ?
(b) Using Adjoint Method compute the inverse of a matrix :

3 -~1

A =
(c) Evaluate :

im (x2 - 5x + 6)

x—3 (X _ 3)
@ Ify= (3 + 5x)x, find ?.

X

(¢) Find the range set of each of the following functions :

1) fx)=5x-1for2<x<6

(1) fx)=3"+x forx =0, 1

SECTION - II
Q.4) Attempt any two of the following : [2x2=04]

(a) Give one real life situation where SRSWOR can be used.
(b) Compute Range and Coefficient of Range for the following data :

59, 43, 68, 95, 97, 40, 100, 85
(c) Define Negative Correlation with one illustration.
(d) State any two merits of Mode.

[4069]-104
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Q.5) Attempt any three of the following :

(a)
(b)
(c)

(d)

(e)

Explain the procedure of Systematic Random Sampling.

State the uses of Index Number.

Describe the Scope of Statistics in following fields :

(1) Economics

(1) Management Sciences

The weight (in kg) of 10 students are as follows :

60, 50, 55, 62.5, 42.5, 65, 67.5, 57.5, 60, 52.5

Obtain Mean, Median and Mode.

Answer the questions using following frequency distribution :

[5x3=15]

Daily

Wages

(in Rs.)) | Below 70 | 71-80 {81-90 | 91-100 | 101-110} 111-120
No. of

Workers 400 650 830 900 300 220

(1) Obtain Class Mark of Fourth Class.

(i)
(111)
(iv)
)

Q.6) Attempt any three of the following :

Obtain Standard Deviation (S.D.) and Coefficient of Variation
(C.V.) for the following data :

36, 30, 50, 20, 44

Draw histogram for the following frequency distribution :

(a)

(b)

[4069]-104

Obtain Class Boundaries of Third Class.
State the type of Classification.
Obtain Class-width of Second Class.

Find number of workers having daily wages less than 100.

[5x3=15]

Height
(in cms.) | 140-145]145-150]150-155]155-160|160-165]165-170 170-175
No. of
Students 20 80 150 60 40
3 P.T.O.



(d)

(e)

Obtain Mode for the following frequency distribution :

Age (in years)

20-30

30-40

40-50

50-60

60-70

70-80

No. of Persons

3

7

14

16

8

2

Obtain Rank Correlation Coefficient for the ranks given by two
judges in a contest :

Ranks by

Judge ‘A’ 8 6 3 2 5 4 1 7

Ranks by

Judge ‘B’ 7 8 5 3 6 2 1 4
Given : Zp g, = 1518, Zp,q, = 996,

p,q, = 1336, Tp,q, = 877

Compute Laspeyre’s, Paasche’s and Fisher’s Price Index Number.

Q.7) Attempt any one of the following :

(a)

(b)

[8x1=08]

Calculate Karl-Pearson’s Coefficient of Correlation from the

following data :

Sale 281 45| 40138 | 35133 | 40} 32| 36133
Profit 231 34 33134 130126 281 31| 36135
(i) Given: X =13, Y =27, 6_= 15, 6, =2,1=-06

Find the line of regression Y on X.

(i) Obtain variance for the following frequency distribution :

Class

4446

46-48

48-50

50-52

52-54

Frequency

3

24

27

21

5
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faurT - ¢
9.1) TRt HBIOHE! T WA HisaT [2x4=08]
(37) SSEHE ¥ $U ¢ AT
(F) =. 4,000 THAT TALEI. .4 IUA 3 IUN Hs ISl FIET
(F) ISEOMUE T BT : I96d
() WA JFAEETTE g vy g I=Iar - 6x + 3y < 24,
() =W flx) = x? - 2, T f2) + f(-2) FrEaT FHEL

13 N
(%) GITA=[2 J,aTSAﬂ‘rﬁmqﬁm.

9.2) YEiad HIOHE dH WA Figar [5x3=15]
(31) THA B. R,000" FATII. 8% FUH VIR dF a9 wpare
TST BIGT. (AT ATHEOT  TITH)
() 3. 90,000 AN T¥ FHATHHAGT % A HA Tdcd, F HTH
ITETOT TdE® qIRAT=IT Bledhiad Bl Jd 370, 97 AES

2T TRl EEe d FI.
[(1.05)4 = 1.2155]
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() e suwgad 99T (L.PP) raersar SEEH disdr

Z = 20x + 30y SRdld 3@ S,
3x + 2y < 24
2x + 4y < 28

X, y>0
() UEId IRUIEEST ARME T

7.3) qEIOs! FHo@ar di 9T |isar [5x3=15]
() FFdt ARl SELESL 3 W (W I 3.4 d9d 6. 8,330
Tq B3 o R

(F) T\ RO (adjoint) UHAM TR WROTHET WRUNSRA HIET

[

(F) AT
lim (X2 — X+ 6)
x—3 (X _ 3)

() W y=(3x>+ 5x)x, T % FIS.
X

(@) TR e yd® Bt (function) STTETHT W (Range Set) HTaT -
i fx=5x-1FAM2<x<6
() fx) =3+ x AT x =0, 1

faamr - |
9.4) qEAds! FiOE I qA wigar [2x2=04]
(30  UA: FHTEANRIETT UM WY WIGHad AT UGy JaaRidaid

T ISEOT a9l
(@) Y2 Rdem AMEdiae MErsT  ATEEEl WSO Fal
%S, 83, §¢, 8%, S, Yo, oo, (%
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(%) KU1 HeHoUTH! IITEOTHET AT feTET.
(3) wEAF (Mode)d HvEr I o1 foram.

i FHIOEE @9 9T wigar - [5x3=15]
(31) UZAdR A9AT fag u=a (Systematic Random Sampling) T &4,

() TR sumn o

(F) UHERTEE T GAT el 3WAd HeW T 4

(i) i

(i) TTRTYT TR

Yo fqaid seA (%) YRyt amed -

go, Yo, 4%, §R.4, ¥4, §4, §L.4, %6.4, §o, §.%

T AMEAS! A, ASFT T Igdd  BIal.

9.5)

®

®) T aen arafar wrofiees Teie e s faer
HET e o 63-Co | ¢3-%o | §3-200 [ 303-2%0 [233-30
TR (F.) |qem wH
FTHIET
LR | Q00 §40 ¢30 Qoo 300 IR0
(i) TrAT YT WA BT
(i) Tog=r @ gl @iwater o
(ii) BT THd BT foEn -
(iv) FEar Ften aiae fEn
(v) Tedt srmmaar 3fs T 3. 300 Geyr HHY IR
 9.6) JRI@UHI HIAE @9 g wigar [5x3=15]

@) TR fedden wiedaEt e e 9 Rreaam @ s
3%, 30, Yo, R0, 3B

() Y2 e araiar areiad! @t e
T (@.)| 280-384 ] 384-3%0 350-24% | 354-350 950-254 | 25430 30-2t0
forameft
L2 3o Yo co Roo | 340 §o 80
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(®) U faciewr raiar AROHEEt 9ge® Hel
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Ro-30

30-%o
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go—mo
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At ST

3

o

3%

3%

¢

)

@) R R TR griEET TEEd SO A Gt
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qitets SrEn
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FET

2p,q, = 1518, 2p,q, = 996,

Zp,q, = 1336, Zpq, = 877

9.7) YeddEl FUETEl TF yeA diSdl
@) TR fdenm widaes S-RewTr Jgady GEoe FEl

C))

[8x1=08]

IEE] Y |83 | 8o | 3¢| 39| 33| 8o 3| 3" | 33
TET 3 |38 |33 |38 |30 (| | 33" 3
() Yo Ftewr Afedies Y o X IO SHTSEOT WT HET

X=13,Y=27,06,=1506,=21=-06
() R faciewr aRERar SREiesd g BEl

T
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[4069]-105
F. Y. B. Com. Examination - 2011
COMPUTER CONCEPT AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - |
Q.1) Attempt any four of the following : [4x2=08]

(@ What is Software ? Write its types.

(b) Give name of the Website which is related to Commerce.
(c) Explain RAM (Random Access Memory).

(d) Define ‘Moving’ and ‘Copying’.

() What is www (world wide web) ?

()  What is a Spreadsheet ? State the use of Spreadsheet.

Q.2) Attempt any four of the following : [4x4=16]
(@) What is DOS ? Write limitation of DOS.
(b) Explain Control Panel used in Windows O.S.
(c) Explain ‘Hard Disk is a Secondary Storage Device’.
(d) How to use ‘Find’ and ‘Replace’ in a File ?
(e) What is Internet ? Explain Web Browsers.

()  What is Electronic Data Interchange (EDI) ? What is benefits
of EDI ?
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Q.3) Attempt any four of the following : [4x4=16]
(@ What is Scanner ? Explain its purpose.
(b) Write following definitions :
(i) Desk Top
(i)  Menu Item
(c) Explain different generations of Computer.
(d) What is meant by External Storage Devices ? Explain any one.

() Explain how to use Wild Character for Searching File and
Folder ?

()  Write short note on Power Point Presentation.
SECTION - 11

Q.4) Attempt any four of the following : [4x2=08]
(@) Define Asset and Liabilities.
(b) Explain Configuring the Invoice.
(c) What is Journal Voucher ?
(d) Explain Assessable Value.
(e) What is Order Processing ?
()  What are important key used in Tally ?

Q.5) Attempt any four of the following : [4x4=16]
(@) Give short note on VAT Computation and VAT Return.
(b) How to Configure a Company ? Explain.
(c) What are advantages of Computerized Accounting ?
(d) Explain different Heads of Organising Account.
(e) Explain Application of Tally and its uses.
()  Explain ‘How to Classify Debitors ?’
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Q.6) Attempt any four of the following : [4x4=16]
(@) Explain Profit and Loss Account.
(b) Explain POS Invoice and Delivery Note.
(c) Write short notes :
(i) Capital
(i1) Courses
(d) What is VAT Bill ? Explain VAT Computation.
(e) Explain Balance Sheet with example.

()  Explain Trading Account and Profit and Loss Account in Tally.
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[4069]-105
A FUTAR
3% : 3 d9] [gspur qor ;80
AT
(1) qd g7 FISAvl MIeTFH 38,
(2) ISEIBSIT 3iF geATd qof OT FIfaar.
(3) FI= frymr wera FEEEHT @isardd.
faumT - ¢
7.1) Jeidudl FHiUal IR T WiEdT [4x2=08]

(31) WUREIIN T|IN M ? IO YHR HU|d ©
(F) DA I TS AT 0T AT TSI 3Med =t =i
ToTar.

(% RAM T &0

() Moving @ Copyingdl =rmeam TeTar.
(3) T TFS AT (Www) IS FE 7
(%) WWeMT (Spreadsheet) =UlS & ¢ & IUANT HATT.

9.2) Yeldud! HiUdal IR T WiEdT [4x4=16]
(37) DOS | H¥ ¢ AT HIET fofar.
(F) TI=ET qOR YOTCHeNd i U_edr aroe |,
(®) ‘B o= 2 TET TRUBIRGGT 3™ T T,
() warEs Wres’ (Find) T ‘R’ (Replace)dT amX HT ST
g fotar.

() ToHe WU HE ¢ A9 desd (Web Browsers) I .

(%) ‘TATE(TH ST ewdsl TUN HE ¢ A/ IJYTNT FANE.
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9.3) Jeldud! FHiUMal IR T FEAT [4x4=16]

(31) Scanner TUS FE ¢ AMET ILA TTE

(F) wed =T foar
(i) == 2™ (Desk Top)
(i) #7 3mgeA (Menu Item)
(F) THNTEAT TETAT FOHTE e F
(3) e TRUTHIREGT BWUN FI ¢ FHUHE TH T B4,

(3) WA I Blewsd dqgee Haey (Wild Character)=m 39T
MYOTES! FHH FA@ o T H.

(%) UEX digedl oiSqdrd AT (oTal.
faum - 2
9.4) JEi@dd! FHiUMal IR g AqiEdT [4x2=08]

(37) “HIEAr T IAUET AT ToET

() Configuring the Invoice ¥ .

(F) SEA BRI WIS FT 2
(3) Assessable Value T .

() 3T wERmT (Order Processing) Uit & 9

() Sl I WUF GO Agcarar g (Keys) wiowdr ©
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9.5) Jeldud! HiUdal IR T WiEdT [4x4=16]
(37) VAT Computation ¥ VAT Return i<t oIS ¥qsedm &
(F) HuAr Contigure HM HWT ? W H.

(%) woTRE SEREE (Computerised Accounting)® wEE @ioTd o
foTar.

(¥) ol JHRET (Account) FESH HIOUTHIST STRTOTIAT  TeIierer
ARG e G B T FA

(3) <ol AT WUH YONE B T IUgFAdT T B

(%) =2faeT (Debitors)™ BT FH HEAE o (A&l

9.6) Jeldud! FHiUMal IR T WEAT [4x4=16]
(371) Uihe T @ 3IThTSHcd TCIHIOT ol.

(¥) drF gargw (POS Invoice) T fefaadt Ate (Delivery Note) ¥
E

(F) (A IRAT AT
(iy @®ea (Capital)
(i) > (Courses)
() VAT Bill ®=ost &/ ? VAT Computation T .

(3) ctmelicd IIMEWMHE TCIHIT H.

() S ST TdGe (Trading Account) @ Wiltee 3TioT @fd
amptee (Profit and Loss Account) 8 a9 &y o forar.
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[4069]-106
F.Y.B. Com. Examination - 2011

COMMERCIAL GEOGRAPHY
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Neat diagrams must be drawn wherever necessary.
(3) Use of map and stencil is allowed.

Q.1) Answer the following upto 20 words each : (Any Ten) [20]
(1) Define Commercial Geography.
(2) Write any two names of Primary Activities.
(3) What is Cultural Environment ?
(4) Give the two uses of Resources.
(5) State any two examples of Non-renewable Resources.
(6) Give the two names of trees in Monsoon Forests.
(7) State two characteristics of Equatorial Forests.
(8) What is Tidal Energy ?
(9) Define Shifting Cultivation.
(10) What is Age Structure ?
(11) What is Over-population ?
(12) Who Postulate the Theory of Industrial Location ?
(13) Write two types of Transportation.
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Q.2) Answer the following upto 50 words each : (Any Two) [10]
(@) Regional Approach
(b) Secondary Activities
(c) Characteristics of Coniferous Forests

(d) Distribution of Cotton Textile Industry in India

Q.3) Answer the following upto 150 words each : (Any Two) [20]
(@) Describe the merits and demerits of Road Transportation.
(b) Describe in detail of Intensive Subsistence Farming.
(c) Engineering Industry in India

(d) Dot Method

Q.4) Answer the following upto 300 words each : (Any Two) [30]
(@) Explain the factors of Cultural Environment.
(b) Write the Population Distribution in India.
(c) Explain the role of Agriculture in Indian Economy.

(d) Explain in detail Geographical Factors affecting on International
Trades.
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[4069]-106
&N BT
SMURT T

(A 004 ITITHHT )

9% : 3 dW] [THoT T[0T : 80

{{?FIT :

(1) & g9 @ISO SMTT9TFE TR,
(2) 3MTTF T FAF STHAT FIel.

) TABERT THled TIOUgTH T 3TE.

q.1) WA FAMET Tdh! 0 eFd IO (68T : (HIUTHEt I 1) [20]
(1) = spEnerEr e fot.
(2) vafHE ST g9 SRl Aid foer
(3) Wiplds TATEROT U HE ¢
(4) FEFEUE g4 39T (e
(5) FUT FrEEEUST! I ISEWT (@l
(6) ¥YA WA s gt A o
(7) foyag<ia sRuait s ditred forar
(8) WX Foll WU FHE ¢
(9) wdiadd Srarar s foEr.
(10) 99 GEAT B|UN HI 9
(11) 3TaRET ARESAT IS B 7
(12) ITNTE=T=T Wb omeT Hgid SOl Jigadr ©
(13) dar&Eq N I YRR F@E.
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9.2) Tl 9Tl 9! o AeFd Ia¥ foral : (Ut i) [10]
(31) 9efE
(@ fedm #oie SEaw
(F) Fragolt sRoarEr e

(oY

() WA Jl FHUS AN Toawom

7.3) TMCd WA Yl 4o STe3id 3Ia¥ fofar : (FHIuradl i) [20]

(37) WA TqEqHE BEE T dlc qUE B
d

(F) A ISaies Jqdid FaT goiT H.

(F) HRATIIA (6 ST

(3) Tea usdr

7.4) TCE 9T Ydd! 300 9M&Fd I &l : (HIUTHEr i) [30]

(37) «iwgi?lqo YT Ueh T B

o

(F) WA AeEsd faawor {den.

(F) ARG JJTART A=l HHBT T .

() ST HTINEY URUMH O GRS Teh Il [T
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Total No. of Questions : 5] [Total No. of Printed Pages : 2
[4069]-107

F. Y. B. Com. Examination - 2011
CO-OPERATION
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain in detail the Fundamental Principles of Co-operation. [16]

Q.2) What is Co-operation ? Explain nature and scope of Co-operation. [16]
OR

Q.2) State the recommendations of Machlegan Committee. Evaluate its
impact on Co-operative Movement in India. [16]

Q.3) (A) State the Deficiencies of Leadership in Co-operative Movement
in India. [08]

(B) Explain the duties of Promotor of Co-operative Society. [08]
OR

Q.3) (A) Distinguish between Agricultural and Non-agricultural
Co-operative Society. [08]

(B) Explain the powers of District Registrar of Co-operative
Society. [08]

Q.4) Explain in detail the Legal Procedure of Amendment of Bye-laws
of Co-operative Society. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Weaker Sections Co-operatives
(b) Types of Amendments of Bye-laws
(c) Promotion Procedure of Co-operative Society

(d) Laws relating to Primary Agricultural Co-operative Credit
Society
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AAET HUR
3% : 3 d9] [TFOT 70T ;80
qAAT
(1) @& 997 ST 37Ma9TF 3MTE.
(2) ITEIESIT 3 goArd Ul OT FOIfIar.
(3) TIWiaIdt wes Fusit gy wardt,

7.1) WEPREl HAHd @ WOl T H. [16]
9.2) WEPR WUN FHE ? WP WHT MU TN W H. [16]
T

9.2) HFW FWEGHT RUERT IO, ARATNA 92N TGo5aqhaiel &
THTATS AT . [16]

7.3) (31) WRAIA TEHN TosdAHee AJre 3uTar T, [08]
(F) TEPW TYAT Jadbrdl dad T B [08]

T

9.3) (31) FU M7 AR FH TEhN TN Bh T HA [08]
(@ NogT Tepl 9= Mg TUeR T $. [08]

9.4) WERN W UMl SHWiEl UGl Aiawl e [16]
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9.5) uieg feur foer o (FoTEmEt g9 [16]
(37 TAA HUTHET WEHN HE[T
() U= gEwen 9Edl
(F) TEHN R Gadd iR
(T) YIATHF AT TN Tqal Hgdr SR
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[4069]-108

F.Y.B. Com. Examination - 2011

DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |

DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Write any two responsibilities of Indian Armed Forces.
(2) What are the functions of Territorial Army ?

(3) Define Intelligence.

(4) What are the functions of CRPF ?

(5) Where the Eastern Command of Indian Army is located ?
(6) Write the full form of AEC.

(7) Write any two aims of India’s Security Policy.
(8) Where is the Headquarters of HAL situated ?
(9) State the aims of N.C.C.

(10) State any two limitations of Indian Navy.

(11) What do you mean by Management Control ?
(12) Define Logistics.

(13) What do you man by Defence Budgeting ?
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Q.2) Answer in 50 words each : (Any Two) [10]

(@) Explain the limitations of Indian Air Force.
(b) State the role of Armored Corps during War.
(c) Write a note on the Principles of Intelligence.
(d) Explain the role of N.C.C. in Nation Building.
Q.3) Answer in 150 words each : (Any Two) [20]
(@ What are the functions of Signal Corps during War ? Explain.
(b) Write a note on the various types of Ships in Indian Navy.
(c) Explain Development of the Indian Air Force after Independence.
(d) Write a note on the Organisation of Indian Army.
Q.4) Answer in 300 words each : (Any Two) [30]
(@) Examine the role of Indian Armed Forces in Disaster Management.
(b) What are the principles of Defence Organisation ? Explain.
(c) Discuss the role of Indian Air Force in India-Pakistan War in
1971.
(d) Explain the Powers of President in relation to Armed Forces.
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[4069]-108
TSt WU
9% : 3 am] [gpur Tqur ;80
AT
(1) T go7 TSI MTeFE IE.
2) IFAIFSIT 3P goArd GO TOT FIIar.
7.1) YAHl 0 EA IAT AT : (IR F@AN) [20]
(1) WA I WAEATHT BRI JIEE 93 .
(2) uURRm I9=ar SOwsEr (Functions) &owdr ?
(3) TfoioT~Edl AT AT
(4) ‘HramdruE’dr R B ¢
(5) WA AT A FATS DS MR 9
(6) TIHELT 07 @wd [ofar
(7) VRl T OO e 9 SfEe foEr
(8) TATUAT WHH IRAT HIS MR ?
(9) TEE BERAd gq [
(10) W AigATaT SF AIET fotar.
(11) =rEemuaTe e ®os ¢
(12) @37 HARMYT AT 1.
(13) T IR(EIAS BN B 9
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T.2) Y@t 4o SMSFA IWY AT : (FIUWEN qH) [10]

(37) WRAN BAESATAT HIET T &,

(F) TEHAAA ARG widdr (Armored Corps) HHST AT
ToTaT.

(F) ‘FlaoHdl o’ T fouor foar

(3) UGIUUHAA TG BERAGl JHGT T B,

7.3) W@ 4o E IO AT : (FIUAE! FiA) [20]

(31 ITEHAAA A Hieddr HF BOGE ¢ d T FHA

() ¥RGE ARAd e gHedt SEst JER fouor {oEr.

(F) TWEATFAR TRA FAESATIT AT [THT TS .

(B) ‘“YRAY WaHAY T e {euor foer

7.4) Yd®! 300 eEA I AT : (FBUEET TH) [30]

(31) MU FERITOATIE  WRATAT T WAGATAT HiHDT  IAeqoT
ER

(F) T FESAT! dd B0 ¢ W B

(F) IS ITT WRA-TTH HTAA ARATAT AT THTEAET s
EEIEa

(3) FIET TAGATHT FIATNA TEUAT BRI B,
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[4069]-109
F.Y.B. Com. Examination - 2011

BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is meant by Bank ? Explain the Evolution of Banking in India. [16]

Q.2) Explain the Procedure of Opening the Bank Account. [16]
OR
Q.2) Explain the Methods of Remittance. [16]
Q.3) (A) Explain the Effects of Endorsement. [08]
(B) Explain the need and importance of Technology in Banking. [08]
OR
Q.3) (A) Explain the Primary Functions of Commercial Banks. [08]
(B) Explain the Balance Sheet of Commercial Banks. [08]

Q.4) What is Credit Creation ? Explain the Multiple Credit Creation by
Commercial Banks and its limitations. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Types of Cheques
(b) Liquidity and Profitability
(c) Types of Endorsement
(d) Core-Banking
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AE SR
IF FTEEW T et
({F et goaaw)
(@A R00¢ YeH)
% : 3 dM] [CFoT T[T : 80
if(ﬂ?T by
1) Td g7 FSfaor MT9TF TR,
2) ITIESIT 3 goArd Ul TOT FOffIar.
(3) FIWiISt Hes Fusit FoTurAeT wETd,

7.1) &% WUN HF ? YRAWIA 6 FIETE Iahidl WO T . [16]

9.2) o T SUSUATA! WRAT T . [16]
T
7.2) 99 UofugTeT dsdl Ay I FA [16]
7.3) (31 USHEATT IRUMH e . [08]
(F) TF TR SIS dAAETE TS 3T g e w0, [08]
T
7.3) (31) WMUR THE GHHE BE W B [08]
(F) AU hAT drbes T B [08]
T.4) UdMErAG WSt B ¢ AR S St garradEr gt @
AGET T B [16]
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9.5) feur ferer : (HIoTETE IH) [16]
(1) YATRAE YBR
(F)  TEAT 3T ATHAIEAT

(F) TSHATT THR

() BRI
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[4069]-110
F. Y. B. Com. Examination - 2011

MANAGERIAL ECONOMICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Define Managerial Economics. Explain characteristics and scope of
Managerial Economics. [16]

Q.2) What is Price Elasticity of Demand ? Explain various methods of

Measurement of Price Elasticity of Demand. [16]
OR
Q.2) What is Business Forecasting ? Explain Intentionous Survey Method
of Business Forecasting. [16]
Q.3) (A) What is Cross-elasticity of Demand ? [08]
(B) Explain the relationship between AC and MC. [08]
OR
Q.3) (A) Explain Concept of ‘Average Rate of Returns’. [08]
(B) Explain Modernization Decision for Investment. [08]

Q.4) What are MNCs ? Explain the role played by MNCs in the
Development of Indian Economy. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Exceptions to the Law of Demand
(b)  Acquisition
(c) Income Elasticity of Demand

(d)  “Profit Maximisation Objective’ of the Firm
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2) ITElESIT 3P goArd Ul O FOIfIar.
(3) SMITF fad FaE SMHAT FIal.
4) TSt 7es Fusit geautyer wardt,

7.1) SaRUE RfmETEr et {den. wewmuesty sriirErt afires

T et forEr [16]
9.2) #ANONEr [FHd dataedr |US w0 ¢ ARl [BHd daradedl
Arsogren fafaw gedr TR F [16]
T
¥.2) QP YA RS 1 ¢ TEaHE qEAFNe! TEq® qaa0
JEdl’ W B [16]
9.3) (31) HEUNEl ©5%F Adrasar ot B ? [08]
(F) TOEY TH T A T A G TS B4 [08]
T
7.3) (37) ‘TUEA UErEr ST W HA [08]
() T[AAUE HIA@ M AHIHOmET o’ oI &, [08]
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7.4) STAOWET Jqaqd QAT TR HE ¢ ARAT rferai= fawmme

MMAWET I TR TG W B, [16]
7.5) feur fomr o (@Ot g9 [16]

(30)  HATTTET T MaTs

(F) WA BT

(F) HWONET IO AdHHdT

(3) TIEE TR ‘BT HEadiEwr 3Ee
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[4069]-111
F.Y.B. Com. Examination - 2011

OFFICE MANAGEMENT AND SECRETARIAL PROCEDURES
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What do you mean by Flow of Work ? Explain difficulties in Flow
of Work and state the measures to improve the Flow of Work. [16]

Q.2) Define the term Communication. Explain elements and significance

of Office Communication. [16]
OR
Q.2) Define Filing. State the importance of Ideal Filing System and explain
Modern Methods of Filing. [16]
Q.3) (A) State the functions of Office Manager. [08]
(B) Explain the role of Company Secretary. [08]
OR
Q.3) (A) State Essentials of Writing Minutes of Meeting. [08]
(B) Explain the Feasibility of Office Automation. [08]

Q.4) Explain Office Manual. Explain the types and advantages of
Office Manual. [16]
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Q.5) Write short notes : (Any Two)

@)
(b)
(©)
(d)

Confidential Report
Objectives of Public Relations
Computerisation of Office Activities

Advantages of Office Forms
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A ST

3% : 3 d™] [TpUr T[0T ¢ 80

7.1) HEYAE TS FE ? FEYAENE JSAS W FHT HEAVATE

TUROITAGST U T [16]
9.2) TAUA BN HE ? FEET IAGATT GSH T AEd W H [16]
T

9.2) FAHOT WO FHE 7 MG AWHOMT ASE WA A 0T
IMIAH THdl T F. [16]
7.3) (37) PG TRAIFET HE TS . [08]
(F) FUAr FocuiarEl qGiHET T F. [08]
T
7.3) (31 JAWST AIEIdie SMaT® STar HIoET o T [08]
(T) FAAT TIAIATHBOTET TTERAT T B, [08]

9.4) FH@EEE AT IRABT T F. BT Altedl qRawa fafer ger
OT BEE T [16]
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(F) BHTIT BHBSTT  HIOTHIT
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[4069]-112

F. Y. B. Com. Examination - 2011
ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

Q.1) Discuss problems and opportunities in E-commerce in India. [16]
Q.2) Explain different types of E-commerce with suitable example. [16]
OR

Q.2) Define E-finance. Distinguish between Traditional Banking and
E-banking. [16]
Q.3) (A) Define Internet. Explain procedure of opening E-mail Account
on Internet. [08]
(B) What is Digital Economy ? Explain characteristics of Digital
Economy. [08]
OR

Q.3) (A) Explain briefly the Security Issues related to E-commerce. [08]

(B) What are the importance of E-advertising ? Explain various
means of Advertising. [08]

Q.4) Explain in detail Electronic Commerce Infrastructure. [16]
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Q.5) Write short notes : (Any Two) [16]

(@) Domain Name System
(b) URL

(c) Smart Card

(d) On-line Advertising
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[4069]-113

F. Y. B. Com. Examination - 2011
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Consumer ? Explain Three Dimensional Concept of a

Consumer. [16]
Q.2) Explain importance and functions of Consumer Movement. [16]
OR
Q.2) Explain Problems of Consumer related to Goods. [16]
Q.3) (A) Write note on ‘Future of Consumer Movement of India’. [08]
(B) Explain features of Right to Information Act, 2005. [08]
OR
Q.3) (A) Explain Concept ‘Consumer as a Capital’. [08]

(B) Explain features of Standards of Weight and Measures Act, 1976. [08]

Q.4) Explain provisions of Offences and Penalties under Standards of
Weight and Measures Act, 1976. [16]
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Q.5) Short notes : (Any Two) [16]
(@) Social Responsibilities of Business
(b) Rights of Consumers as regards Weights and Measures
(c) Scope of Right to Information Act

(d)  Precautionary Measures for use of Medicines
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[4069]-113
AASE HATAL
YEF FRIV T ATTH(AE  Aterqed
(AT j00¢ TaA)
9% : 3 d9] [gspur aqor ;80
AT
(1) |F g97 FISHIor TTF 3778,
(2) ISEIBSIT 3iF geATad qUf OT FIfaar.
(3) FIHIGIST oo TS FOAUIAHT GETal.

9.1) UEF WO FE ¢ YEHE CNOTHS HHEAT W B [16]
q.2) UEF THdHd AEd T FE W B [16]
Tar
9.2) JEHE THCOUOE THET W H. [16]
7.3) (31) ‘U UTeHh TAaesd Wigae® FEY <9 foer [08]

(F) WIEdl JIUBER FEET, o004T INT T F. [08]
Tar
7.3) (31) ‘UTEd T Wisdd 3M®’ - FhoUdT T B [08]
(F) TIAHTT URATT FBEST, QLETT AT T H [08]
9.4) TFATT GRATT FHIET, QLETARN TAAAIHGHT TSN [ M7
e e WOEr W E [16]
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9.5) feur ferer : (ot &) [16]

(37) TAEETAT ATHANAS JTATISTT

(F) TAIESHAIT TEHd &6

(F) WiEdl ISR FEEET T

() N qUIETEd AR 39T
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[4069]-114
F. Y. B. Com. Examination - 2011

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What do you mean by Entrepreneur ? Describe in detail the qualities
of a Successful Entrepreneur. [16]

Q.2) Define the term Business Environment. Describe in detail the factors

of Business Environment. [16]

OR
Q.2) What is Poverty ? Explain causes and remedies of Poverty. [16]
Q.3) (A) Distinguish between Entrepreneur and Non-entrepreneur. [08]
(B) Write a note on YASHADA. [08]

OR

Q.3) (A) Write a detail note on Entrepreneurship Development Institute
of India (EDI). [08]

(B) Explain in detail the Entrepreneurship of Economic Theory. [08]

Q.4) Describe Entrepreneurial Career of Narayan R. Murthy. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Habits of Entrepreneurs
(b) Economic Development and Industrialisation
(c) Maharashtra Centre for Entrepreneurship Development (MCED)

(d) Dynamics of Motivation
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[4069]-114
AS BT

9% : 3 dW] [gspur qor ;80

(1) |F 997 FISIvr TTF 3778,
(2) ISEIBSIT 3iF geATd qUf TOT FIfaard.
(3) FFWrGId Hes FFST FeA-UfAET UETdl,

9.1) UGS IORA AUOME HE AT gt 7 TWEE! JTSHE IO

A quiE . [16]

9.2) ATIANUF TIAEROT IT A<l ARAT IT. ATTHIIS qITao=AT 9eHhid

A quiT . [16]
T
9.2) SIRGT WUN FE ¢ IIRGATA! HROT IMOT SYEASHT faerg &, [16]

9.3) (31) IUISe VT [R SIS AT B T B [08]

() =& (YASHADA) a1 @@ & forer. [08]
e

7.3) (31) WRAW 3IASiear faem @ (EDI) Imew wfiway Sfv fer@r. [08]

(F) 3Nt Tgiardidl STISTHal  ATaqul T . [08]

9.4) AREUT AR, TGl ITrAT STSHIT FRIBED qUH - . [16]
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9.5) feur foer ¢ (HrurEt g9)

(37)
()
()

®)

SISThRT=AT Tl

N fatd 3moT SR RO

TENTE  3UISTehdT (a6 %% (MCED)

YOI FAALNTE
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[4069]-115
F. Y. B. Com. Examination - 2011

INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Explain the Principles of Insurance. [16]
Q.2) “Transport helps in Market Expansion.” Discuss. [16]
OR

Q.2) Explain the recent trends in the Development of Indian Tourism. [16]

Q.3) (A) State the functions of General Insurance. [08]
(B) State the Contribution of Goods Transport in Import and Export. [08]

OR
Q.3) (A) State the role of Insurance in Logistics. [08]
(B) Explain the role of Tourist Guide. [08]
Q.4) Explain the importance of various Modes of Transport. [16]
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Q.5) Write short notes : (Any Two) [16]
(a) Hazards in Logistics
(b) Scope of General Insurance
(c) Tourism Promotion in India

(d) Need of Life Insurance

[4069]-115/2



Total No. of Questions : 5] [Total No. of Printed Pages : 2

[4069]-115
AUSt HAE
famn sior aEq®
(AT 00¢ GaH)
9% : 3 dm] [TFoT 0T 80
AT
(1) & 997 TSI STTeTF 3.
(2) ITAIPSIT 3iF FeATd gUl T FIfAaa.

7.1) fommt @ @ & [16]
9.2) “dEqE & JeRucel [N #Ed &Y. ddr &L [16]
EEL
¥.2) WA U¥ed TORMmEie SMeed Jarg e . [16]
7.3) (37) HadHRer fowmdt w ", [08]

(F) TIE-TEAE AT JTeqars TS /i, [08]
EEL

7.3) (31) W itaRewAer faemar qieT @i, [08]

() Jars! AFEREET GEST T B [08]

g.4) dEgHren fafqa qeEE "E ' B4 [16]
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9.5) aigerd feur feter : (FIUTAE FA) [16]
() TIRCHAIA ISR
(F) TIATIROT TR St

(F) WRATNE TS

(3) YT RS
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[4069]-116
F. Y. B. Com. Examination - 2011

MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define the term ‘Marketing’. Explain the functions of Marketing. [16]

Q.2) Explain various Media used for Advertising. [16]
OR
Q.2) Explain the steps in Process of Selling. [16]
Q.3) (A) Describe the importance of Branding and Packaging in
Marketing. [08]
(B) What is Rural Marketing ? Explain the importance of Rural
Marketing. [08]
OR
Q.3) (A) Explain the importance of Marketing Organisation. [08]

(B) State the objectives and importance of Market Segmentation. [08]

Q.4) What is Sales Promotion Mix ? Describe various Sales Promotion
Techniques. [16]
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Q.5) Write notes on : (Any Two) [16]
(@ Price Mix
(b) Marketing Environment
(c) Senile Marketing
(d) E-Marketing
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[4069]-116
AS FUTA
9% : 3 dW] [gpur Tqur ;80
T -
(1) T F97 AU NTT9TFH 378,
(2) ISEIBSIT 3F geATad qof OT FIfaar.

9.1) ‘fauoe’ o1 St @t an [guErt B T 6 [16]
q.2) STEdt SRar Il Sorr fataer Areas s &L [16]
R
q.2) Tohg Wihddid @ T . [16]
9.3) (3 TaUUEEE HEiwA T ‘Hawd’ I Agw faeE H [08]

(@ AT fqUUE WO ¢ AT quvE 7Ea W wO. [08]
R

9.3) 3N U ducqAd dEd W H. [08]

(F) ASRIS GHRIBETE e T " g | [08]

7.4) ‘Toruger i wmo s ¢ fowugerEr fafgw 9 fawg ww. [16]
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¥.5) feur feter : (FroTETEl F) [16]
(3 TFHa s
() fOIUE o=
(F) die® T9AT TR 9o
() g-fquoe
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[4069]-117
F. Y. B. Com. Examination - 2011

FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Discuss in detail new trends in Banking Sector. [16]
Q.2) Explain the advantages and limitations of Partnership Firm. [16]
OR

Q.2) “Co-operative Sector plays an important role in the Era of Globalisation.”
Comment. [16]
Q.3) (A) Define Outsourcing. Discuss its advantages. [08]
(B) Discuss the features of Organised Market. [08]
OR

Q.3) (A) Explain the main recommendations of Malhotra Committee. [08]

(B) Discuss the History of Indian Stock Exchange. [08]

Q.4) Discuss the objectives and functions of Maharashtra Chamber of
Commerce, Industries and Agriculture, Mumbai. [16]
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Q.5) Write short notes : (Any Two) [16]
(@) Current Foreign Policy of India
(b)  Networking
(c) Future of Commodity Exchange in India

(d) Protection of Investors by SEBI
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[4069]-117
A HATAX
9% : 3 dW] [cFoT 0T 80
ELIE
(1) qd g97 TSI MTF 37TE,
2) ITlESIT 3P goArd Ul TOT FOIfIar.

7.1) ofET gl A9 gaiEaY gty 9= B [16]
7.2) WHNGH SaamErd Aty ST "9l T [16]
EE1

9.2) “SAIIHIBOT FASSA TebR 7 Agardl s sorad.” fedqott
. [16]

7.3) (37) IMESHINEE T A9 O BEe H. [08]
(¥) dofeq IemraT IRredEEd T@l B [08]

EE1

7.3) (37) FeaEm AMHGT HAewarar RIERT ' @ [08]
(F) VRAE YW AT Siagraray adr &, [08]

9.4) FERTE w@eX 3 B, e v sffieewy, WHag OiEr sfEe

3MMOT & FrEY ==l B [16]
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g.5) feur faer . (FoEEt §9) [16]
(1) WRA R 9SS T
(F) AearwT

(F) WRAGA 9% fa-ame Afaas

(3) WP IATU[HINT  HWEIT
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[4069]-118
F. Y. B. Com. Examination - 2011
PERSIAN GENERAL
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define and illustrate any ten of the following
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Q.2) Define any two of the following : [10]
Ao
ST )
~/ )
YO

Q.3) (A) Reproduce in your own words of any one of the following : [10]
Gl ek (1)
By 6 ()
S e (3)

(B) Write any one of the following : [10]

(1) Literary work of Iraj Mirza
(2) Life sketch of Ghalib
(3) Literary work of Saadi Shirazi

Q.4) (A) Explain any five couplets of the following in English, Urdu, [10]
Marathi or Persian :

b Je# e (D)
L F e B S
b FE T E e @
by A et s s I
oL 3ot 2ot Fon 3

b 7 ol & 0 Gz S r:
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STl By 7 ki iz
d/"UQUUJ}J)'}(dM)ﬁ?‘.ﬁ
»f@lﬁl/’ﬁ/zulgzgfl/
M’JTU:;};U{'ZJ‘%J);Z/JI
u}(}jﬂ,g/z,&.:d,g/f’
uﬂ;/"’fgf&'u‘gj

il s 2k G a0
);?g[f,xl{‘;d)/:}t'

(4)

)

(6)

(7)

(B) Translate any two of the following passage into English, Urdu

or Marathi :
s gl S 0 eSS $6 gl S £ 0T
el § el (79 =il ”.l:' IRy PRI
e gy (3;} o2lg s dgf’;j ff.( Py j s 0s /)
< L Yl G - d)/'/ Y Jff:’

Y o,f;/. el s/

%' SET 3 ey S s gty ,’ég D,
s s bt 7 S LT wrz G g
Uiéw’fbffﬁyjuidlg,:l;g/'ulﬁ
ﬁ,é/}»:}@;ﬁugﬂ d,g'])l-)/
sl s sl er o Su (}h‘,{{l«) J/L 29 2l

BT Y
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sd s S S el P JE s 3
/:’@ﬁ.uuyﬁufffd/w;? gl sy
LEp wEa Ky Sy as § 635055 i
w:rﬁ/b&%fdfﬁdfwé-;/j}g
-u;/ﬁ;;:;)u’ég:

(C) Translate the following unseen English passage in Persian, Urdu [08]
or Marathi :
There was a black bird. It was very thirsty. It saw water in a small
pot. There was a little water in it. It brought small stones and put
them into the pot. The water cam up. The bird drank water and flew

away. It was a wise bird.
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[4069]-119

F. Y. B. Com. Examination - 2011
ARABIC GENERAL - |
(New 2008 Pattern)
Time : 3 Hours]

[Max. Marks :

4

80

Q.1) Translate into English or Urdu or Marathi any two of the following

passages :

ool B3 5 ey &bl 58 « R asl; I (@)

383 308 W55« Ty fuésTs:JéaL §5a
‘JLg u.’.ou.;.':t““”.od.ﬁ.CJLu‘d U"‘JJG"“"
el B & a5 a2 85 pjel
1305 L5 43 348 < ol 0S5 48 4wl 4
Y KLY T'“méﬁm Y45 W &5
g Sl 85880 Lshy Sala 345 - o3 &

3a3 dael Lbslil :»lsnui s s Jalig

[4069]-119 1

[20]

P.T.O.



o5 85235 L3z L8 i s B8 55 ()
Gylall Gl Ll Quas 35 »isl olsy
B2l 5l ks I (ol Gla]
sl e L0 Sl el )i o] Zall
"Gl (ol 88 5 b Wil K b
Suly da” ALLg o ais 4 L LSA 4
Gal el a8 : 2l IS8 7 SLAN1EA s 1502
G52 cpin o dadal) (hads T4l Sad Ll sa
"o s s 585 3105 da 4 U

‘t ‘S\\o \b

ol iz, Y6l 232 (2)

o5hlly g és; &)
S5 ¥ il lials

&K Lsla s 14
L5345 G5 o Ll &)

ol 15330 &7 58
o3I B o

545 g L e

L3l faslh Lo 335
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Q.2) (A) Translate into Arabic any five of the following :

(1)
2)
)
(4)
)
(6)
(7)
(8)

This bus 1s going to the college.
The new teacher is a tall man.
My father is in his room.

He is going to his home.

He took him to the school.

On the window, there is a curtain.
There 1s a student in the class.

That chair is comfortable.

(B) Translate into English any five of the following :

P
S5 G ele s
N A T S
7 - et -a7 -
- Jadll Sl uzl,dlc_ub
C @aa ol I ol

S50 v - (s
o Jaaas Guoa il

€ - -5 -
S .o, ),,).
d..q‘).d‘du.s
= J d /(.sé
e
~ G S

LG g i

-~

Q.3) Explain with examples any two of the following topics :

[4069]-119

_B5LaY R
olalh Gya
- Lelalt Jaalf

(1)
(Y)
(¥)
(%)
(o)
()
(v)
(A)

(1)
(¥)
(¥)
(¢)

[10]

[10]

[10]
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Q.4) (A) Summarise any two of the following :
iyl

. b‘,.‘_,:.ll s
- &Ll ’°LLJT

A
(B) Write the term in Arabic any two of the following :
TyYasll 5 sl
¢ oy ‘ilj
il LISH 3382

Y.\

(V)
(Y)
(¥)
(¢)

()
(v)
(v)

(C) Write a letter in Arabic to the Business Manager of Company :

-

LB G e N Gl g A o

P
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[4069]-120
F.Y.B. Com. Examination - 2011

ADDITIONAL ENGLISH
(New 2008 Pattern)
Text Prescribed : The Joy of Reading Literature
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read the paragraph carefully and find single words for the
phrases given below : (Any Four) [04]

It was a bright, cold day, the ground covered with a sleet that
had frozen so that it seemed as if all the bare trees, the bushes,
the cut brush and all the grass and the bare ground had been
varnished with ice. | took the young Irish satter for the little
walk up the road and along the frozen creek, but it was difficult
to stand or walk on the glassy surface and the red dog slipped
and slithered and | fell twice.

(@ A thin coating of ice formed by frozen rain water.
(b) Painted in order to make a clear and shiny surface.
(c) A dog of a large, long haired breed.

(d) A stream a brook.

(e) Of or resembling glass in some way.
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(B) Fill in the blanks with correct form of the verb given in
brackets : (Any Two) [04]

(@ | was most (touch) by Ganga’s sentiments and
(feel) an uttar fool.

(b) Let me (come) with you and
(meet) Gomti.

(c) There was clearly nothing (leave) to do but
(flop down) on the shabby little coach and
howl.
(C) Change the voice : (Any Four) [04]

(@) He gave me a fifty dollar bill.
(b) He will deposit fifty six dollars.
(c) The manager was fetched by the accountant.
(d) The very sight of him rattled me.
(e) | am opening an account.
(D) Give synonyms of the following words : (Any Four) [04]
(@) Happy and Smiling
(b) Locality
(c) Shocked
(d) Make Something Known

(e) Calm and Peaceful
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Q.2) Answer any one of the following in detail : [16]
(@) Why did the astrologer think he had committed a murder ?

(b) Where was the dustbin finally placed ?

Q.3) Answer any one of the following in detail : [16]

(@) How does the poet describe the faithful wife who is now middle
aged ?

(b) What does the squirrel say to the mountain about size ?
Q.4) Answer any two of the following in short : [16]

(@) Comment on the feelings and emotions Paul and Patricia went
through while searching for a hotel.

(b) What did Della buy for Jim ? How ?
(c) How were Paul and Patricia able to get a table at Hotel Stefani ?

(d) Explain the title - ‘The Gift of the Magi’.

Q.5) Answer any two of the following in short : [16]

(@) At the beginning of sonnet 29, the poet seems to be in low spirits,
but brightens greatly towards the end. Discuss.

(b) What does William Wordsworth mean by ‘a sordid boon’ ?

(c) Do you think that Emily Dickinson looks down upon those who
are defeated ?

(d) Explain in your own words, the line ‘I, too, am America’.

[4069]-120/3



Total No. of Questions : 7] [Total No. of Printed Pages : 4
[4069]-121

qUqH I QST gdermr - 2011
HTIEINE T ST At

(@ R00¢ Hew)
FARHYEAS : (7)) STTHAIT
(k) FEETRE Fadt
IS5 : 3 aw] [gpor qor ;70

{‘C{W:
(1) dd 597 FISIol 3TT99F 378,
(2) 3FAIESIT 3iF geArd gui O FIAfaara.

7.1) Jeiud! FHIOATE THT [IuamER Yoo &EiUdd faer fofer [10]
(1) TaT Hiowar ImEl "% MR ¢
(2) usar THekT; 9@ ®E 9
(3) MRS MfoT A&t q%oT

9.2) JEiud! FHIOATE BT TAEl IUX TSI 0 IeF (@@l [10]

(1) SMHART dEArr &9 gaisH 3.

(2) TRT 3IMOT JMHEIRT ATAA BIE HBOET o foAar.

(3) HIEd IMTAHT HBIUTATE S A=l Aid foTar.

(4) A TEEAHID SMOT AG FE U=SA B 9

(5) T BISAABT ATATHS STATITAT AT FAX [TEAGINST STTOTHT
SOl favg Ser gdr ©
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(6) TUGAT TR HIOTAT EEHAHA THT a9 did gaaT I

FOAET BH U BT ¢

(7) Thwid A T IR WS TaFuerEr q @

(8) 3 AT T W-TSWT HIVTAT BlATAT T HAAT 9

(9) T 29 TAT RecIar’ I1 B BT T 9T 9UH HikTdo
g ?

(10) “FIOTHeA’ AT SMHABPUAATAT ARIHBT HIOT 7

(11) 3. THLS. IFA FAMW ID HOTAT GO HHq et
AEEIl ANEE IR 9

(12) TI5T SHSY FHA ITAT TEHT AW HIUd WeNe Noshd wd

g ?
(13) AT &g TS 3TN Whed  HIOTAT ST HShAA  THHT0T
AT ©
7.3) JEiud! FHIUATE! THT FA IaX JIdB o eI (@@l : [05]
(1) St Alsd EEHAT WA U [EsAl’ W AA [@hS H
T ?

(2) Ui A% WA FNA TEHSHAAT FAGHAT G TGO .

9.4) YEiud! FHIOATE! THT FAD IAX 4o Ed foral [10]

(1) ‘ATTOT 3T AWMU A7 T SEE e Tl FEAA! Siad
T BENE 33 B9 gSd d W L

(2) =f TS, I[A AW TAT AT SAATT HIO DTN AT
A o WY foEr.
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9.5) HIUEEN T weArEr s foEr [20]

(1) M=t R18107 v Heoma RIgToTrs =t ST ARraart 378,
TAGATT MTAHT STHETA AT TS T ASAT =T A1 3T

feTar.
(2) INfSamdt WA TR & TR TR IOy g% B .

TR TSI RS I dreaal 372, a7 JamErar o«

frvmmas foooft ferar.

(3) T MESTHERS! JAH a1¥s FIATIROT AT e, a1 qod
sfaqa ToTar.

(4) Taomafe WU THEER IMURA Todeddd  gae=  qad

AETTT WIgd 3T, I7 YS9 ASdIasesl qame .

9.6) HIUTHTE! THT HATd 37X foTar - [10]

(1) &t HIROTGSA T 6{105(*1(*1(] ST R &«'q{i Y HHd 3T|_g GIEIG]
g i)

Tadd  JATATEA BT \filé\li g @@ &,

(2) HIUATE TH [TOIER JOUARET AT AYET e

(i) TRESOT AT HICR

(i)  vuyEe

9.7) (30 Ui A UF AT ARSEEE $6d §HYS NS
g1 [05]

TIhT FEUTS AHS B 7 METT HATAT AR ATEAdesrdt e

BRI @ e (e B 2 [9ew w1 |99
M FEMET THSA 3. I 3T FHSM Hood SO g e
B THET WE E FEAT IRWE I UBd. [T IATTD

BT AR ARA IR AT FHIAEITAT AT {2 T FiEgaa
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THEE TS [qh™ q®. A% Hodd sar df fae 3t T
BHAl HheadT IARUSd THId! 3T, el ey Aqdedr el

AT ST 31T 3T el Taepraneit doer 3r9dl gr=

MITAT FARBT Y 9=SdT HMAT A4,
(IF|HAFAT : €YW)
Bl

() USIT IS SAATS AASH WA BA [05]

The transitional stage of Brazil’s Economy started in the first
half of 1990, when it opted for an ambitious economic policy.
In order to put a rein on ever-increasing pressure of debt, it
took a number of sturn measures for curbing expenditure in
various government institutions. Autonomy was granted to the
Central Bank, encouragement was given to foreign investment,
a number of state owned industries were privatised and inflation
was brought under control. In fact these reformative steps are
paying their dividends now.
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[4069]-122
F. Y. B. Com. Examination - 2011

SANSKRIT
( STHTHIAT )
(New 2008 Pattern)

9% : 3 ] [TERUT TUT : 60

Q.1) Translate into English or Marathi any two from Section ‘A’ and any

two from Section ‘B’ from the following passages : [20]
7.1) UEidst 7 fawnTie Foerdt e 7 T favmdia storerat
R FUSia AT wESd WiWiaT & [20]

SECTION - A (Rvmr - 3n)
(1) YR Tom gaq e wufatty, daser qaieas aed -

“Ar T | I [epHRT sfiemtedt o fauw, ¥ wEr MEwE
IS o7 | WIS, “qaiaie | FU a8 fashAie e |
T AFAN, “oFal e | UHAT [IHAR TG ANSIRIAT:

T IUTTioRd |
(2) T - (W) §@H | I ERal ay adwr e |oar
o

TS e PeH TN TR Arggerdi
T5d [ates~ WAt HawaEHET qq |
THAT TSH dSM TG AgEar -

T # g TRiygeEY T ound ®EE|

I, 999 FAUEEEA (3T e Areaid )
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Q.2)

9.2)

(3) ¥ T HAT FaTAq AYWE FEMNSAH | JAS & qHE HAW

TG TIATA TS IAT AT - WETERAe IRR Iq e

T T qERAEAT Qe qEgne e | 3| 9 -

THEE JUaaiy SEareed a6 Sgaq |
T 9 Wd 9R 98d gad o |
SECTION - B (Fwmr - )
(1) SFFEr g THOT EATHT gal |

SIAATTRHHILN THT A A7 ||
T7 d HAAEr faeia wEw |
TEUT TR WA SWTATHSATAT |
(2) TZ FUSHEBIET THMET-
AN 9 gaeEg |
T H: ATAF
T d B g |
(3) TqEEH REEREHAAIIE
TS qeT  FTAATSSTATHIH |
Forad graAd eSS

(&N o o
EUEEEESERIERIGEIEEE T

Explain with reference to the context any one from Section ‘A’ and

any one from Section ‘B’ : [10]
37 [qUTNTdiT FIoTATEl TR T 9 OumTdia SoTETEt U
TSUTHE TSR] B [10]

SECTION - A (fawmr - 37)
(1) TR wusvs: |
(2) Qa@AY qEE Eresta ofidam |
SECTION - B (fwmr - %)
(1) ST TR ygsedetssdarq |

C

(2) = IO YR EIRTI[ORAAT |
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Q.3) Write a long answer of any one of the following from Section

‘A’ and any one from Section ‘B’ : [20]
.3) ‘37 TIWNTIA HIUTETEt UHT 99T 9 ‘@ [Iommdier BoTemal okt
FATE Gy 3T ToTEr [20]

SECTION - A (frwmr - 37)
(1)  Write critical appreciation of lesson “ToaTsiEe= M T’
qUTYHSRAA A YR AT et Tafhdd®  TUE .
(2) Write summary of the lesson of “wrorsTeaa:’ |
AUIMNET” AT IS AR TeAET
SECTION - B (fqwmr - «)
(1) Write summary of the lesson ‘@ & e%asT T,
‘g ¥ eeRET TES AT AETET AR fea.
(2) Explain the types ‘sm=ife’, ‘Fw&mar with example.

Q.4) Write short notes on any one from Section ‘A’ and any one from

Section ‘B’ : [10]
T.4) ‘37 FrmTiel FIOTETE! ThTaT 4 ‘@ [rmTdiel FITeamal Ushtay fad<es
o e [10]

SECTION - A (fawmr - 37)
(1) Character sketch of ‘T=m fass#’.

o o o
Al TdshHIHT  HTerdudl.

(2) ARTHE: ADOT: |
SECTION - B (R - @)
(1) Character sketch of fS=mHTET.

o [ o
(STSTTHIAHT  <l<rd T,

(2) EETEE: |

[4069]-122/3



Total No. of Questions : 5] [Total No. of Printed Pages : 5
[4069]-123
qUH g9 G g9del T - 2011

Ta=t
(A j00¢ TeA)
THg : 3 9w [‘3\'011?5 : 70
TGS ¢ (1) FEHERT ;. TEHIE
(2) TIETERT : HTHGTE

(1) ¥t go7 3rfqard & |
(2) g T fored 3i weA * gonie F

7.1) (31 TfaRad # ¥ FF= S 9T & I 94T | o [06]
(1) ‘g8 $ T@ FaH! B &f B ARET S |
(2) daoHEd & HHOT B 6™ I wE-wEr @ ' T8 9
(3) WIRE &7 ST & g & w9
(4) “myw’ Hag  dws B A B uREg S |
(3 Trefiad & 9 (%= & weat & IO "@au # fal [06]
(1) ‘959 & gewrd A, 39 -’ Higar # BT FT AL Id
g ?
(2) “droTETSAT X & Hlaar HT AMEET O ST HfeAtd |
(3) ‘T AL FE Hlaar # Ha FAT Bl FEEAACT T
WA g 9 YhIeT STy |
(4) ‘TEURMT Hlaar # FO A @ $ gETEN ¥ @9
gd HAEGT SiiaT Bt B ITThd fRAT ¥ 9
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7.2) (31 Tr=fafea # @ T S sraaen o gus s Sitg ;- [06]

(1) “Fgr AY FHIA A AT A F U LA 3d & M
# gUEd 39® UB-Ue 9dd oar g |7

(2) “ZAR faemedt felt ot oa & TUse g, 9T WS, STeRHv
anfs # areft I wewloRmat ® & W W a% fRrem § Aewd
2, AYATCRIIT 3% W AITAREET ded g |7

(3) “TH I SATH HIAT A&l &, Al | TA AA-TETH ENER
ST SIS TTEdr &, % geaT Hg 6 el Af B U 9
TE W wHar |7

(3m frfaiaa & ¥ =l S aaEn & TEEd o sitg o [06]

(1) “gTH T
WA ARAE A & B
AEAY WA RIS 9aq &,
T W e
HEHIEH A |7

(2) “Fa s & &\

o [aV
oldal-dH Hld %

StagTd 36T 2
g ud df @
foog it A
g e Ry &7

(3) “fIC 9HIT TH, FHd & @ TH,
gghd TN H T I BT IATAT TH |
ARI-AT A H AT H F ASAT FT AR TS,
= # fewa &1 w17
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9.3) fewumt fasd

(31) TRT W HN GEAT [04]
JTIET
(37) FAER [04]
(31 ITHYEAt F e [04]
JTIET
(3M) ‘I Hlqar &1 ATETYS [04]

(3) F=faiad # & 6=t 82 99l & TH-UF I # S fanad © [06]
(1) YAy 9 930 § F&0 AW 9

(2) FAAS H ARAEE AT FAT AT 9

(3) WIEARMH HI U & Bgd FAAH & T ARG B 4T
WRaq It ur ?

(4) TERSH & AlHT FT A FAT AT 9
(5) IUBAUT FEGT F FARRTAT B fHA IqOT H ARG B9
(6) WIS H JUT HAT ¥ ¢

(7) T Bl W HIF M T&l AT 2

(8) YA BT T FABL A HX | T ?

(9) HfT A T P9 W & AE A8l B ?

(10) B9 3R @ T& W a Aawef & BT T& Haw ?
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9.4) (37) THfaEd § 9 f6dt 6 13 &7 gy R Sind [06]

(1)  fed / TS S, 23R, HETHT et g, AT & f&at
IATE US & (Y Arad, [IeawRdr freror S, anTR

® A 3maeAuy fasar / fasar 2

(2) WA / FEAT 99N, IR0, HI I, IFATNR T 3794
Y # N9 e smafa # srfafHaar @ @ w1 S
3 g AR 9T ‘S % AlHAq $ THEES B AW QBE
o fograr / foerar §

(@ [aNEaN o

(3M) FETaRAd [aaue STET aidie T &1 AT dOR &iee : [06]

(1) R & Mg 9 O™ BT HEES G |

(2) wElTaeT & 99 ‘TS T4 gisHr $ e R @
Tt |

(3) F=fafea & 4 %=t o8 ot &t g5 s fasw [06]
(1) d Rt @t 999 9gd ANRtE &dr g |
(2) BFIAWST AY WA IaAT E |
(3) W& FaEE F R F RER &
(4) WS HG HI MU IHA FJ FST W BT 2 |

(5) T TER FAd & IWHT T R T |
(6) wlaifiar & @ Wi # |

(7) 9 AN HMH HET T |

(8) Y A FH Jd W T A |
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9.5) (37) THAfaEd #§ 9 f6 9a gt 3 B iR o=
fafe .

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)

Action
Bonus
Agreement
Capital
Customer
Holder
Deposit

Judgement

Surcharge

(10) Treasury

M) FeEfRgg § 9t ts faww &1 sl s

(1)
(2)
(3)

ITTATHAT MR B FTAAT & |

TSl HT B HieT BT 2 |
SIS @ g |

[4069]-123/5

[07]

[07]



Total No. of Questions : 5] [Total No. of Printed Pages : 2

[4069]-124
F. Y. B. Com. Examination - 2011

GUJARATI
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

W) AAnidl S8 wa 2 [Quy u [Roly qull - [1€]
(1) oecldl Aurara
() R AedUR U
(3) aad ugyel
(¥)  axn ol ™d

W.2) s uRl s UsdAL AlRAR GdR quil : [12]
(1) Risl adllu 2udvudal Awdwsl
()  [Bsl Al A vadl amulys qmil
w.3) lAAHiedl S ua s UsAdl AlAdR Gar duil : [12]
(1) el sRAlHl uefanHdl dauie
() e WA o Aledel s B, 2l 53,
wy) () &5 A avil @ (516 uw As) [0¢]
(1) ldinad gu
() 558 29 sHa a2AAL D
(6) 25 it avll : (S5 uaL As) [0¢]
(1) ‘e addl G’ st sl Sl
(R) ‘cactaq w s@dmi sl s
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wu) () yaluz 2Aein auil @ (s a8 - s ua) [0¢]
(1) gl &3 wui, i B .
() wollon 3wl @ w3l Had .
(3) i 9 26l ® A YU AU 2 Y ?
(%)

gl ol s 2l o ollaal-dl odl ?

(6)  AARSML Wl HUSA olAdy, Mot AHAAAL Yo vl [0¢]
Al
(o)  awdl sdomi doada qauduel silsd [ sead quil. [0¢]
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[4069]-125
F. Y. B. Com. Examination - 2011
SINDHI
(Arabic)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

[20] —'.91J Olss Lo s w23 p 0o olo o — 1 Jigm
N o lay ts/.a:5 o5 /"54:‘(/10 x[ib>L)/o-c |
¢ 52>
or dos3 U0 Uiy o 815 il L5 -2
C MY ey 9% by Al
SR ot By S enlens e by o3
('33_\ 3"ib-o 9
{9t swols Bls g4 N ud/’wé—’LD Cassl o4
s pools clous we dalsy s, s s 05
YS—DJ-UJ —bf"’
(o N C).ué}jb sol I u)_é:/‘ol 6
szoy;,omns/pswozyb Ho wle -7
ufc»»s S I WU ublﬁf@ fases -8
C o ros [J/JJ( o> Jo oo /°/5‘9M 9
U ww fos of fumle o
foo oliih sole W 25 o oS w3pesf” o

Lo | M:diﬂu?, 12
A S
S 27 2 N Al

Y'U*m
13
e we 48k oo slash ot 52
sde A ORM gms
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o Lo Jpus o 2 05 ob wdae -2 o
.. o /
[10] »:a,d L. u-l’-ﬂ-S S Lﬁ ‘j‘j 20 |

w‘uLmjl olo &,ﬁgM £ u£.¢°l9/ /oLC
o & o S sl o ¢S
: .‘gusul‘o‘g'».e‘*?rD—:%J‘B%’
[20] o4 /\W
(L}ﬂ")\_/l\yﬁsm)u(psjp buxpiu-\/}
9)/5 L.C/L&/;g/s o Und -2
oo ligs emte oo oD -3

4 S
tsle b

s’ s o7
ol s (BL ol uso Jsbss -2
5,‘,\,0/' N U/LD;‘\-;“'J[ -3

sap 1320 D0
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SINDHI
(Devnagari)
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
qara-1)  gfeatw @ A v et gawte o1 e fowt [20]
(1) 3SR EE AEH I Hieg TEH W DI AT 9

(2) R g9 Sraarontst St RERm @ sfaer St Rer afe @
drestt 9% 7

(3) TaT & I@Td o WAT St A W Hiegr AGON S ¢

(4) TR, DT T FY ABAU AqMlEAT P OB ?

(5) TR T TUYHT S Ffaaq"H H Biegl Od foraaa &t ¢

(6) ITIHIT o T&T AT B TET 9

(7) @ W F@E AT Hleg HorAd H oA &9

(8) Fwizy ST O IAUT d WAl T Hif HHAr ?

(9) T S &@ S EErE #Esr g ¢

(10) STl & HiEeT MF gIm ¢

(11) @e®s mada Al & Mg d oot [ & ¢

(12) Mid-day 3RAER | TTHTH S TH UF0T ST TR BT ST
g ?

(13) ®EEA, IFY TIGME AT Aoe3l S TNIE FHIES st

[4069]-125
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gara-2)  Bfeg w@f T U [ gamett stosEw 2R &g
50 ARSI | ferel [10]

(1) o= o Al wret er wEsr ©
(2) e wies Remfa S WA amgY dret M ?

(3) omET TUA B FleggH JBHE FT HAT M@ ¢
(4) 3fe 95 @ dERM & S Ft oft s ¢ TR

gae-3)  dfeafr w fef & T gaett s saw awfemr fawt @ [20]
(1) wwEml #T g8 ¢ Hief R 9 7
(2) WRRT ST ART FEAvp SR
(3) Wi JATHuH ST @ B T AT 9

(4) drq YT By AT BiEE AH B BAT 9
gara-4)  2eui @i A w fW fwir @ ws feasn [30]
(1) HfestT wwr Far
(2) SeslE Higst wfed by |
(3) T S SrfeEd
(4) TN BERT ST IMMHBUT
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[4069]-126

F. Y. B. Com. Examination - 2011
FRENCH
(New 2008 Pattern)

5

80

Q.1) Ecrivez un dialogue :

(A)

(B)

Paul va passer trois and a Strasbourg. Il cherche un petit studio
meublé, pas cher dans un quartier calme. Il veut un appartment
avec une douche et un parking, dans un immeuble moderne. Il
va chez I’agent immobilier. 1l demande a voir les studios. Ecrivez
le dialogue.

Jacques, un chauffeur de camion livre des machines pour une
usine a Lyon. Il conduit de la Suisse en France. Le douanier
arréte le camion et demande des questions. Ecrivez le dialogue
avec le douanier.

Q.2) Ecrivez une lettre :

(A)

(B)

Q.3) (A)

[4069]-126

Isabelle Schmidt écrit une lettre a la société MILAN en ltalie.
Son directeur Gérard Duperrier va en voyage d’affaires a cette
société. Isabelle écrit les détails du voyage; la date d’arrivée, le
nom de son hétel, la date du retour, les numéros des vols
d’arrivée et du depart.

\Vous étes importateur de vins. Vous écrivez une lettre a une
maison de vins frangaise “VIGNETTE’ qui vend des vins blancs.
Vous demandez les prix et les produits.

Traduisez en anglais :
Les repas ont une place importante dans la vie des Frangais.

Au travail, les Francais déjeunent a la cantine de I’entreprise ou
dans un bistro.

Les enterprises peuvent proposer a leurs employés des chéque
déjeuners.

[10]

[10]

[10]

1 P.T.O.



Beaucoup de restaurants et de cafés acceptent les chéeques-
déjeuners. Ces cheques sont revendus aux employés par
I’employeur : celui-ci paie la moitié du cheque-déjeuner.

Les cadres francais commencent a travailler entre 8 et 9 heures.
\os collégues frangais peuvent vous inviter a un petit déjeuner
d’affaires ou de travail.

(B) Traduisez en anglais : [10]

Pierre est a la reception de I’h6tel de Paris. Le réceptionniste
donne la clé de la chambre numéro 102.

Pierre : Alors, ma clé ?

Le réceptionniste : Voila, monsieur. Votre chambre est chambre
numéro 102, au premier étage.

Pierre : C’est une chambre avec salle de bains ?

Le réceptionniste : Oui, monsieur.

Pierre : Est-ce qui’il y a un restaurant ?

Le réceptionniste : Oui, il est ouvert de 19 heures a 23 heures.

Pierre : Ah! Vous ne servez pas de déjeuner ?

Le réceptionniste : Deésolé, monsieur. Seulement le diner.
Q.4) Compreéhension :

Le plein s’il vous plait.

Claire revient pour six mois a Angers. Elle est en voiture. Elle s’arréte
dans une station-service.

Claire : Le plein, s’il vous plait!

Le pompiste : Normal, super ou sans plomb ?

Claire : Super, s’il vous plait.

Le pompiste : Vous voulez que je Vérifie I’huile et I'eau ?
Claire : Qui, s’il vous plait.
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Le pompiste : Vous n’avez besoin ni d’eau ni d’huile.

Claire :

Bon. Je vous dois combien ?

Le pompiste : Alors, le plein de super, ¢a fait 163 francs.

Claire

: Voila un billet de 500 francs. Je suis déesolée, je n’ai pas de

monnaie. Vous me donnez un regu, s’il vous plait.

Le pompiste : Bien sdr. Voila, madame. Au revoir et bonne route.

(A) Répondez aux questions suivantes : [04]
(1) Ou est-ce que Claire revient ?
(2) Ou s’arréte-t-elle ?

(B) Dites vrai ou faux : [04]
(1) Claire veut faire le plein de normal.
(2) Le pompiste vérifie I’eau et I’huile.
(3) Claire n’a pas de monnaie.
(4) Claire demande un regu.

(C) Donnez le contraire : [01]
bonne

(D) Donnez l'infinitif : [01]
dois, s’arréte.

Q.5) Grammaire et vocabulaire :

(A) Mettez au pluriel : [04]
(1) Je lis I’'annonce dans le journal.
(2) Le directeur cherche le nouvel hotel.

(B) Mettez les verbes entre parenthéses au temps ou au mode
indiqués : [03]
(1) (Apprendre - impératif) ta lecon.
(2) Nous ne (boire - présent) pas de vin tous les jours.
(3) Elle (rendre - passé composé) la carte.
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(C) Complétez avec des preépositions : [02]

(D)

(E)

(F)

[4069]-126

(1) \ous partez Tokyo.

2 hiver nous allons pour les vacances.

Mettez au négatif : [06]
(1) Je prendrai une tarte.

(2) C’est une carte de paiement.

(3) Continuez tout droit.

Trouvez I’objet direct : [05]
(1) Monsieur Yves passe la commande.

(2) Traversez la place.

(3) \oici le plan pour la maison.

(4) Je déteste ces photos.

(5) \Wous ne pouvez pas acheter ces billets.

Dites vrai ou faux : [05]
(1) Un habitant de Roumanie est roumain.

(2) On va a la charcuterie pour acheter du riz.

(3) Dans un restaurant on peut payer par carte de crédit.

(4) En France il ne neige pas en hiver.

(5) Le directeur technique coordonne les activités de fabrication.
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(G) Choisissez la bonne réponse : [05]

(1) Au supermarché on achete une boite d’asperges dans la
section de

(i)  Fruits et légumes
(i)  menage
(iii)  hygiéne
(20 On va a la lustrerie pour acheter
()  les livres
(i) les jeux
(i)  les lampes
(3) On peut faire le plein d’essence dans une
(i)  station-service
(i)  quincaillerie
(i)  agence immobilier
(4) La féte de la libération, c’est le
(i) 1 novembre
(i) 8 mai
(ii) 14 juillet
(5) Le directeur technique coordonne les activités de
(i)  fabrication
(i)  publicité

(ii))  ventes
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[4069]-127
F. Y. B. Com. Examination - 2011

GERMAN
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden fragen ! [20]

(1) Was machen Sie am Abend ?

(2) Was essen und trinken Sie Zum Mittagessen ?

(3) Wie Viele Zimmer hat lhre Wohnung ? Wie heilRen sie ?

(4) Ich habe Halsschmerzen ? Was soll ich tun ?

(5) Was kann den Schlaf Storen ?

(6) Was muss eine Hausfrau jeden Tag machen ?

(7) Wie kann man nach Berlin fahren ?

(8) Meine Freundin Kocht gern. Was kannich ihr zum Geburtstag

Schenken ?

(9) Nennen Sie vier deutsche Industrien !

(10) In Welchen Lé&ndern Spricht Man Deutsch ?

(11) Was haben Sie am Sonntag gemacht ?

(12) Woflr ist die Stadt Pune bekannt ?

(13) Was braucht man in einer Kiiche ?

[4069]-127
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Q.2) Lesen Sie den folgenden Text und beantworten Sie die fragen !
Andrick Razandry, Student.

Das ist Andrick Razandry. Er ist aus Madagaskar. Aus Tamatave. Das ist
im Osten von Madagaskar, am indischen Ozean. Er hat dort and der
Universitat studiert. Seit Zwei Jahren lebt er in Deutschland. Er studiert
Deutsch als Fremdsprache an der Friedrich - Schiller - Universitat in Jena.
Andrick hat 18 stunden Pro Woche. Er arbeitet gern in der Bibliothek. Er
sagt : “In der Bibliothek kann ich meine E-mails lesen und gut arbeiten.
Abends ist es dort sehr ruhig.” Er kennt viele Studenten und Studentinnen.
Die Universitat ist international. In den Seminaren Sind Studenten und
Studentinnen aus vielen L&ndern, aus Russland, China und aus den U.S.A.
»Am Anfang war es fir mich alles sehr fremd hier. Jetzt ist es okay. Ich
habe viele freunde und wir lernen oft zusammen.”

Andrick spricht vier Sprachen : Madagassisch, Franzosisch, Deutsch und
Englisch.

(A) Fragen : [08]
(1) Wo liegt Tamatave ?
(2) Was macht Andrick in Deutschland ?
(3) Warum arbeitet er gern in der Bibliothek ?
(4) Woher kommen die Studenten und die Studentinnen ?

(B) Sind die folgenden Aussagen richtig oder Falsch ? [02]
(1) Die Friedrich - Schiller Universitat ist in Madagaskar.
(2) Zu Hans arbeitet er gern.

(3) Viele ausléandischen Studenten Studieren an der Universitat,
Jena.

(4) Am Anfang War alles neu fir Andrick.

Q.3) (A) Ubersetzen Sie den folgenden Text ins Englisch. Oder
Marathi ! [10]

Martina Maiwald ist Zwolf Jahre alt. Sie Wohnt in Berlin.
Martinas Mutter kommt aus Nigeria. Martina fahrt im Sommer
manchmal mit ihren Etern dorthin. Dieses Mal ist sie mit einer
Idee zurlck gekommen : Sie moOchte den Kindern in Nigeria
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helfen. Denn in Nigeria KOonnen viele kinder nicht in die schule
gehen. Die Schule sind zu weit weg oder zu teuer. Martinas Vater
ist der berihmte Sanger (famous singer) Martin Maiwald.
Zusammen starten sie die Aktion ,,Kinder fir Kinder”. Rei Papas
Konzerten, im Radio und im Internet ruft Martina Kinder in
Deutschland, Osterreich und in der Schweiz zur Hilfe auf. Sie
sammelt (collects) Geld, damit (so that) die Kinder in Nigeria
in die Schule gchen Kdnnen.

(B) Ubersetzen Sie ins Deutsche ! [10]
(1) The vegetables are very fresh.
(2) Robert wathces T.V. in the evening.
(3) Monika wants to become a doctor.
(4) How much does the cupboard cost ?
(5) We want to stay in frankfurt for two years.
Q.4) Grammatik und Wortschatz :
(A) Ergéanzen Sie das Perfekt ! [05]
(kochen, einladen, sein, besuchen, fahren)
In der letzten Woche War Erika ganz beschaftigt. Am Montag
Sie ihre freundin Monika . Am Dienstag Sie
nach Bonn . Am Mittwoch sie den ganzen Nachmittag
, denn am Abend sie einige Freunde zum Abendessen
. Die Freunde bei ihr bis 12 in der Nacht :
(B) Bilden Sie Fragen ! (nur drei) [03]
(1) Um 9 Uhr gent Prof. Miiller zur Universitét.
(2) Der Kaffee ist sehr heiR.
(3) Im Dezember fliegt Robert nach Deutschland.
(4) Der Pullover kostet 80 Euro.
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(C) Erganzen Sie die Modalverben ! (nur drei) [03]

(1) In der Bibliothek man nicht rauchen.
(2) Mein Onkel viele Sprachen.
(3) ,Was du trinken, Rita ?”
(4) Die Schiiler punktlich in den Unterricht
kommen.
(D) Ergénzen Sie die Endungen ! (nur sechs) [06]
(1) Ich mOchte ein rot Bluse Kaufen.
(2) Die Stadt hat jetzt ein _ neu __ Theater.
(3 D groB _ Wohnung hat einen Balkon.
(4) Frau Braun moéchted _ klein _ Schrank Kaufen.
(5) Das Haus hat ein _ Schon _ Garten.
(6) D __ freundlich __ Nachbar hilft uns immer.
(7) Bitte, Sagen Sie mir Ihr neu Telefonnummer !
(E) Erganzen Sie die Personalpronomen ! (nur drei) [03]
(1) Der Sohn von Herrn Robert wohnt in Bonn. _ besucht
______off.
(2) ,,Herr Muller, __ tragen viele Koffer Darf ich
helfen ?”
(3) ,Dieses Haus geféallt _ nicht. _ muss noch andere

Hauser suchen”, Sagt Martha.

(4) Darf ich etwas fragen, Monika ? Kannst du
dein Worterbuch leihen ?

(F) Erganzen Sie die richtigen Verbformen ! (nur vier) [02]
(sein, schlafen, fahren, sehen, anrufen)

(1) Ketaki Sheela . Ihre Handynummer ist
98220 38924.
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(G)

(H)

Q)
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(2) ,Wie lange du am Sonntag ?” ,,Bis 10 Uhr”.

(3) ,, ___ ihr Schwestern, Bina und Neeta ?” ,Nein, wir
Freundinnen.”

(4) Wohin __ dieser Zug ? Nach Delhi.

Erganzen Sie die Possessivpronomen ! (nur vier) [02]

(1) Herr Maier und __ Sekretdrin arbeiten bis 20 Uhr im
Buro.

(2) Wir lernen Deutsch. _ Unterricht dauert 45 Minuten.

(3) Frau Midller will _ Wohnung vermieten.

(4) Was ist __ Vater Von Beruf, Eva ?

(5) Herr und frau Miuller sind Arzte, aber _ Sohn ist
Programmierer.

Erganzen Sie die Préapositionen ! (nur vier) [02]

(1)) _ Montag fangt die Prufung an.

(2) 8 Uhr 930 Uhr dauert der film.

(3) Bitte, legen Sie die Bicher _ den Tisch !

(4) Die Kinder gehen um 8 Uhr __ der Schule.

Erganzen Sie das richtige Wort ! (nur vier) [02]

(1) Briefmarken bekommt man auf der
(2) Wir konnen Blcher in einer kaufen.

(3) Hans muss um 8.30 Uhr ins Blrogehen, aber er steht
immer spat auf. Er braucht einen

(4) Du hast fieber. Du musst ein nehmen.

(5) Heute ist Mittwoch. Morgen ist

5 P.T.O.



(J)  Welches Wort passt nicht ? (nur vier) [02]
(1) Buch, Heft, Worterbuch, Tisch.
(2) Elektroherd, Mikroweue, Kiichenlampe, Geschirrspller.
(3) antworten, zusammen, schenken, trinken.
(4) Norden, Siden, Osten, Wachsen.
(5) Kurz, dick, lang, gelb.
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F. Y. B. Com. Exmination - 2011
URDU GENERAL
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
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Now a days women have been playing
major roles in politics and nation building. As for
Indian women they are gradually advancing in
the field of the politics.

Girls perform better than boys in the board and
competitive exams. Indian women have proved
their abilities on the National and Interntaional
Level
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[4069]-129
F. Y. B.Com. Examination - 2011

COMPUTER APPLICATIONS
(Theory)
(Vocational Course-1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) Figures to the right indicate full marks.
(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Define the following : (Any Five) [05]
(@ Web Camera
(b) E-mail
(c) ROM
(d)  Application Software
() MODEM
()  Input Unit
(9 UPS
Q.2) Solve the following : (Any Four) [08]

@ (248), = (),
(b) (1A4), = ()y
(c) 1001 + 101 + 1011 + 1111
(d) Solve using 2°’s Complement Method : 1101 + 1001
(e) 1011 * 11
(f 11117/ 10
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Q.3) Write short notes : (Any Five) [15]
(@ Magnetic Tapes
(b) Mail Merge
(c) Pointing Devices
(d) File Menu of Microsoft Word
() Custom Animation in Power Point
(H  Output Devices
(g) Task Bar

Q.4) Answer the following : (Any Three) [12]
(@ Any 4 Mathematical Functions used in Excel
(b) Use of Computers in Modern Society
(c) Format Menu of Microsoft Word
(d) Any 4 Mathematical Functions of Excel

(e) Scanning Devices
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F. Y. B.Com. Examination - 2011
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Write short notes : (Any Two) [16]
(@  Principles at Communication
(b) Types of Events
(c) Communication Skills
(d) Exhibitions and Trade Fairs

Q.2) What do you mean by Communication ? Explain the role of
Communication in Marketing. [12]

OR

Q.2) What do you mean by Communication ? Discuss the different types
of Communication. [12]

Q.3) What do you mean by Public Relations ? Discuss to tools of Public
Relations. [12]

OR

Q.3) What is Sales Promotion ? Explain the tools used in Sales
Promotion. [12]
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F. Y. B. Com. Examination - 2011
TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Five) [10]

(a) “Ataxis a voluntary contribution by a person to the Government
with so many expectations.” Is it true ? How ?

(b) Define Canon of “Variety’.

(c) Is Custom and Excise Duty is Direct Tax ? How ?
(d) “Direct Tax pinches the taxpayer more ! How ?
(¢) To whom Hindu Law applies ?

()  Define, “Partner’ and ‘Partnership Firm’.

() What do you mean by ‘Summons’ ?

Q.2) Answer in 50 words each : (Any Two) [08]
(a) State the Classification of Taxes and describe in brief each of
them.

(b) State the advantages of ‘Direct Taxes’.
(c) State various heads of Income under Income Tax Act, 1961.
(d) Explain in brief, ‘Doctrine of Res-Judicata’.
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Q.3) Answer in 150 words each : (Any Three) [15]

(a) Write note on, “Succession to the Property of a Female Hindu
dying intestate’.

(b) State the kinds of Schools of Hindu Law. Describe in brief each
of them.

(c) What are the essential characteristics of a Valid Partnership ?
(d) What are the differences between ‘Direct’ and ‘Indirect Taxes’ ?

(e) Write note on “‘Seventh Schedule’ to the Constitution of India.

Q.4) Answer in 500 words : (Any One) [07]

(a) State the Central and State Powers of Taxation and Distribution
of Revenue between Central Government and State Government.

(b)  Write in detail, the ‘Inherent Powers of Court.”
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F. Y. B. Com. Examination - 2011
COMPUTER APPLICATIONS
(Theory)
(Vocational Course-II)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) Figures to the right indicate full marks.
(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Write syntax and give example of the following functions : (Any Five) [05]

(@ putch()
(b) getchar()

(c) cos()
(d) strupr()
(e) atoi()
() tan()

(9) strrev()
Q.2) What will be the output of the following modules ? (Any Four) [08]

(@ main()

{

void greet(void);
greet();

void greet(void)

printf(*\nHello and Welcome to C”);

}
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(b)

(©)

(d)

[4069]-132

main( )
{
int n1, n2, n3;
printf(“Enter 3 integer values:”);
scanf(*%d %d %d”, &nl, &n2, &n3);
if(nl > n2)
max = nl;
else
max = n2;
if(n3 > max)
max = n3;
printf(*%d is maximum number”, max);
¥
main( )
{
int i = 2;
while(i = = 2)
++;
printf(*\n%d”, 1);
¥
main( )
{
cahr ¢ = “Xx’;
switch(c)
{
case ‘v’:
printf(“Welcome to C”);
break;
case ‘X’:
printf(“C is Structured Language™);
default:
printf(“Dfault Value”);

}

Contd.



)

main( )
{
int i, sum = O;
for(i = 1; i < = 20; i++)
sum = sum + i;
printf(“Sum is %d”, sum);

¥
(H  main()

{

int a = 300*300, b;
b = a2
printf(“%d%d”, a, b);
¥
Q.3) Write short notes : (Any Five) [15]
(@ Logical and Relational Operators used in ‘C’
(b) Character set used in ‘C’
(c) Strings
(d) For......Ioop
(e) Array of Strings
()  Character Constant
(90 Nested if......... else statement
Q.4) Answer the following : (Any Three) [12]

(@ Explain the advantages of using Pointers.
(b) Write a ‘C’ program to print a table of given number. Accept

number through keyboard.
(c) What is Library and User defined functions ?
(d)  Write a “‘C’ program to print sum of first 10 natural numbers.
() How can a structure declared and initialized ? Explain with

example.
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F. Y. B.Com. Examination - 2011
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - 1l
ADVERTISING
(Vocational Course - 1)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Write short notes : (Any Two) [16]
(@ Essentials of Good Ad Layout
(b) Career Avenues in Marketing
(c) Limitations of Advertising
(d) Ethical Aspects in Advertising
Q.2) What do you mean by Advertising ? Discuss the different types of

Advertising. [12]
OR
Q.2) Explain Concept of Ad Creation. State the essentials of a Good
Ad Layout. [12]
Q.3) What do mean by Advertising Budget ? Explain various factors
affecting Advertising Budget. [12]
OR

Q.3) Explain the advantages of Advertising to the Manufactures, Customers
and Society. [12]
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[4069]-134
F. Y. B. Com. Examination - 2011

TAX PROCEDURES AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Five) [10]
(@ What is meant by ‘Sale’ under M.VAT Act ?
(b) What is meant by ‘Crossing Frontiers of India’ ?

(c) What are the Modes of Cancellation of Registration under M.VAT
Act ?

(d) When Sale under CST Act is outside the State ?
(&) Who has to sign ‘Application for Registration” ?

(H  What are the Forms for Application for Registration under M.VAT
Act and CST Act ?

(@) Who is called Dealer under M.VAT Act ?
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Q.2) Answer in 50 words each : (Any Two) [08]

(@ Explain the Incidence of Tax under CST Act.
(b) What is meant by ‘Sales Price’ ?
(c) What is meant by ‘Documents of Title’ ?
(d)  Who can Sign the Returns under M.VAT Act and CST Act ?
Q.3) Answer in 150 words each : (Any Three) [15]
(@ Enumerate the ‘Sales Tax Authorities’. How they are appointed ?
(b) What is meant by ‘Goods of Special Importance’ ? Enumerate
the Declared Good.
(c) Enumerate and discuss various Forms and Declarations under
CST Act.
(d) What is meant by ‘Schedule’ ? What are the Rates of Taxes
provided under Schedules of M.VAT Act ?
(e) Explain the provisions for ‘Compulsory and Voluntary Registration’
under CST Act.
Q.4) Write long answer in 500 words : (Any One) [07]
(@ Explain and discuss provisions for Levy of Tax under M.VAT
Act.
(b)  Who ? When ? and How ? is required to submit the Returns

under Central Sales Tax Act.
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[4069]-135
F. Y. B. Com. Examination - 2011

FOUNDATION COURSE
(Restructuring)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What are the causes of Rapid Growth of Population in India ? Suggest
measures to control the increasing population. [16]

Q.2) Define ‘National Integration’. State and explain various obstacles

in achieving the goal of National Integration in India. [16]
OR
Q.2) What is Poverty ? Explain various causes of Poverty in India. [16]

Q.3) (A) What is the importance of Religion in Indian Society ? [08]

(B) What are the various steps in Scientific Method ? [08]
OR
Q.3) (A) Write note on Human Values. [08]
(B) What are the characteristics of Science ? [08]
Q.4) Describe the merits and demerits of Indian Democracy. [16]
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Q.5) Write notes on the following : (Any Two) [16]
(@) Importance of Yoga
(b) Rule of Law
(c) Types of Liberty
(d) Merits of Caste System
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